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BCE/M-22 26011

FINANCIAL ACCOUNTING-1I
Paper-BC-201

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory. Select four questions from the remaining
eight questions.

o ufe e & ST AU g Hem 1 e
%) v ae wEA ¥ | W WA ®OFE RS
Compulsory Question ( wrfrard uya)
1. Explain the following : 5x4=20
etfed @ A St
(a) Provisions in the absence of Partnership deed.
e He@ @ avE § OgRRE WH & JEEEl
(b) Explain the characteristics of Hire Purchase System.
SET ®H Sl F TAvEel wOPTe WINT
(¢) Explain Sacrificing ratio and Gaining ratio.
= A 9 TN WiE S S g

(d) Clarify the difference between Revaluation account
and Realisation account.

TeiFd @WK Sgel @ F O IR W
Fiferul
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(e) How will you deal with Goods in Transit and Cash
in Transit under Direct method

ﬁﬁﬂﬂmm%_ﬂﬁa&%mﬁdﬁi%
FT N FGER HU]?

What do you mean by Hire purchase system ? State its

characteristics. Explain the difference between Hire
purchase system and Credit sale. 5

R wE ugfa d e e o 7 st Ay
TR fEra wm ugfe d4m om fEn 4 e woe
Hife|

Malhotra Limited has a branch at Aimer to which all the
goods are invoiced at cost plus 20%. Branch keeps its
own sales ledger and deposits all cash received daily to
the Head office account. All branch expenses are 1o be

paid by the Head Office. Prepare Branch account as on
31st March. 2012 from the following:

13
T =
A H 20% WA wE WS T % w= o e
TR K WA T W A T AEE rm ® m
T 94 FEeE w21 fmtaiEs 8 3 9= 0000
F W WA R FHif

YeeEl fafyes w R T TFE T 7 S S g

Particulars Amount (%)
Stock on Ist April, 2011 33,000
o
Stock on 31st March. 2012 39.000
@i

26011/K/2453/9,700 2

Particulars Amount (%)
Goods sent to Branch during the year 3,90.,000
4 % ATF IE H AR S
Goods returned by Branch 13,500
T 5,20,000
Total Sales .
N 2.25,000
Cash Sales ‘
Debtors on 1st April. 2011 25,000
Hﬂoﬂm on 31st March, 2012 33,000
e 1,900
Discount on debtors

! 12,000
Rent & Taxes

N 22,000~
Salary

o 7.500
(General expenses

=g

Mﬂm in transit as on 31st March. 2012 6.600
MHEMEH&EE:%& by H.O. for the Branch 32,000

o F fom guE wEem § HoEt B

Write 13% depreciation on Computer. .

FHN W 15% W TE AMEY

P.T. O.

26011/K/2453/9,700 3



4.

What is Goodwill ? What is the need of its valuation ?
Explain the different methods of Valuation of
Goodwill. ’ _ 15

il o 27 39S Touwd F R anavdd §7 w
% Hediwa # fafom fafim = ool Fifs

The following was the Balance Sheet of Anurag and
Bhawna sharing profits in the ratio 2:1 as at 31st March,

2019: 15
Liabilities Amount Assets Amount
() ()

Creditors 65,900 Cash 1,200
Capitals : Sundry debtors 9,700
Anurag 30,000 Stock 20,000
Bhawna 20,000 Plant & ?anE:mQ 35,000
Building 50,000

1,15,900 1.15,900

On Ist April, 2019 they agreed to admit Monika into
partnership on the following terms :

(a) Monika was to be given 1/3 share in profits, and
was to bring 315,000 as Capital and ¥6.000 as share
of goodwill.

(b) That the value of Stock & Plant and Machinery were
to be reduced by 10%.

(¢) That a provision of 5% was to be created for doubtful
debts.

26011/K/2453/9,700 4

(d) That the Building Account was to be appreciated by
20%. _

(e} Investments worth 1,400 (not mentioned in Balance
Sheet) were to be taken into account.

(f) That the amount of Goodwill was to be withdrawn
by the old partners.

Pass necessary Journal entries and prepare the revaluation
Alc, Capital Accounts and the Opening Balance sheet of
new firms.

I 379, 2019 & f=1 vl W SRR 9fEE # gEeR
T w1 Taofg T

(%) Aif= & @9 = /3 feem fem ok =
215,000 951 3R %6.000 TAfd + &= =M

(@) W%, @ Td [l F ged 10% F4 e
St

(M "y wol & fw S% wowEwE @ S

(%) a4 F1 20% f¥F godtHa g

(T) 21400 % faf@m =@ o = § (& fa2 o
T feam o))

(|) wrfa =1 Ul @R ggEd g fAwme o S

AFvgd A wlafear wIfSU g 99 gediss @

TS B s 7 wH w1 emy w feaem frmmm

On 1st April. 2015, X, Y and Z started business sharing

Profits and Losses in the ratio of 3:2:1 respectively. They
contributed Z1,00,000. T80,000 and T40.000 respectively

26011/K/2453/9,700 5 P.T.O.



as their Capital which was deposited into bank. Fach
partner withdrew ¥15.,000 during the year, The firm was
dissolved on 31st March, 2016. X took up the stock at
an agreed price of %25.000. Y took up furniture at $5,000
and 7 took up the debtors at T18,500. Creditors were
paid off then remained 3 balance of 214,000 in the Bank
Ale. Prepare the necessary accounts to show the distribution

of cash at bank and of the further cash brought in by any
of the partners, 15

mﬁymﬂ“ﬁ&@m:ﬁmﬁ_woaﬂﬁﬂﬂﬁﬁ
fhan e T EH S w30 i

el

IXH YA # wy oF FHA: 21.00.000, $80.000 ey
ﬁo,o%mﬂmmﬂyggﬁ@ﬁ@ﬁ%%
V15,000 F=6tet1 31 W 2016 FH OF G 97 fe
T T 7 =g w5y ﬁm,ooom@%mﬁ@iﬂﬂ
35000 9 ferm aw S 3 TR T 718,500 o Feram)
%ﬁﬂﬁaaﬂmﬁﬁ%ﬂﬂﬁ%ﬁu%
WHA e T me T14.000 =)

7. Lxplain = the methods  of charging  TInierest on
Drawings. 135

STETT WSS oM fafya T Fifem
8. Aand B are partners sharing Profit apd Losses in the
ratio 2:1 with capitals of $2,00,000 and T1,00.000

respectively. Each Partaer is entitled to 89 per annum
mterest on his capital. B is entitled 1o salary of 35,000

2601 1/K/2453/9,700 6

. C10% of the net
. on Ow #O 40
- with a commissi . d
sther with a i . apitals an
fannun (02! frer deducting interest on ¢aj
alter =

. . rofits {or
L sion. The p
rer chareing his commisst oita] but
salary and after = jon of interest on cap

: calculat _ oo

| e 90.000. Prepar
s year prior J e -
e 1o salary of B amounted .

ﬂo . -
profit rematning

‘ter chargit
after charg . 4 N
Partner’s Capital accounts

(ay When capitals are fixed. -

b) When capitals are fluctuating T -0
L mERe & o e A 2L A E A
A .ﬁoo 000 d=1 T1.00.000 Z1 JMMHH 5,
qfear e X200, oH o STEIRRD
ﬂ.ﬂm

, meom:mﬂsn

Fuft oA S oy A W A T R §
g £5.000 TEE =T 97 & oad F Al #110%
T AT ok e ~ )

; .ﬁu‘% . .Jﬂ%%
e et B9 F e T &) TEEN
HHTE T G WS A 290,000 U1 FE
i SRR
w7 LA
E_lm_m,AmnﬁﬂﬁwnN

NP )
(b FE T e

how will vou find out

g > Vel . _

s mariner dies during the ve ariner 7 Give suitable

9. Ham [ erofit of the deceased par 5
“fare o M) L 8

the share © . o

examples. % A uH

cos a7 T
. - g9 & <N -~

fo tEer TEER FOHT T Fn7? StEd BEEL
gwﬂﬁﬁao, F1 AR B A
% <+, R ‘

Uil

.
26011/K/2453/9.700



Roll No. ... Total Pages : 3

CBCM/M-22 26012
MACRO ECONOMICS
Paper-BC-202
Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attenipt five questions in all. Question No. 1 is

compilsory.

T U WA F I A g wEm 1 s

l.u..
@ |

Compulsery Question ( 3tfTaTrs g9 )
I, Write short notes on the following : 4x5=20
W i feorfory #ifim

(1) What do vou understand by investment function?

Mo 7 9w o w3
(ity  What is the meant by Macro Economics?

T o oA 3

(i What are main causes of inflation?

F O EM F

(1v)  How National Income in closed economv is different

Irom that in open economy?
A7 AT F T A7 G vskoren § g
JFR fas 2T rm,_.u

26012/K/2783/9 790/ T P.T.O.



(]

(v)  Tell about the monetars measures to control business

cvele.

<

NN Tk F HEHT T % v gt 3Tl =

mﬂw .ﬂ. ERIER
What do vou understand by National income? Elaborate
onc method 1s measure it? 13

T 379 A AT W AEEd § 2 TH A @ UE e
fawqe =17

Explain the process of Acceleration. How it is different

LA

from multiplier? 1

U T iAW S FeU AR e 9 fRG weR
= g2 a |

Elaborate the Demand Pull Theory of intlation in detail.

o 15
e & i dig faglad w1 e @ oA s

What do you understand by intlation? What are its various

“types? How it aftects different sections of sociefy? 15
qIEEIf | A 1 HEed €7 TS fafde R e g0
72 T & fafv= am %1 &9 wefad s 22
Critically examine the Samuetson Theory of Business
Cyceles. 15
TR Tl AHUeE
wifsm)

26012/K/2783/9.700/T 2

After explaining the meaning of Business Cyceles, tell
about its various phases. 15

HETEF T HF oY T F AR e At e
® Gt H =y

How the assumptions and views of Classical and Keynesian
of employment are different from each other? 15

T A 5 wwr fam

How Keynesian theory determines equilibrium income
and output? ‘ 15
F g7

26012/K/2783/9,700/T 3
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BCE/M-22 26013
FUNDAMENTALS OF MARKETING

Paper-BC-203

Time Allowed : 3 Hours] [Maximum Marks : 80
Note : Attempt five questions in all. Question No. 1 is
compulsory.
FA urd T # IR A T de 1 atEd
z

Compulsory Question ( 3THaTH Wy )
1. Explain the following in brief : 4x5=20

frefofon = waq § wEEwy:
{a) Product Life Cycle.

ICE e TG
(b) Packaging.

Tsfam
(¢} Meaning of New product.

0 I F ST
(d) Multi Level distribution channels.

TE W fame ==
(e} Trading up m:mﬁmmmmm of Product Mix.

IR fogm F wEHE =UR it

26013/K/2583/9,700 P.T. O.
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]

5

“Marketing does not mean selling. It means the creation of
customers.” Clarity this statement and explain the modem
concept of marketing. 15
HaaE w1 Haew de T % sEe WAoo & e
F T T o W omw wifau qwr fawom @
SICIREANCC Cire a B i o )

What is marketing mix? Discuss the forces governing the
marketing mix in Indian conditions. 15

fomwmm fagm w0 27 wrdm ofiferm § fawom faso
w1 tEbE w5 o ofRed w5 faEaew witm

Explain the consumer and industrial product. What are the
differences in the marketing of both types of products? 13

TSI AR TR SR SAmen w2
® TR F faem § e arew w7

What are the different strategies applicd to various market
seaments? Explain the elements that influence while selecting
the strategics for market segmentation. 15

fafu= s wel & fou o fafem oot = 8
aR favfagsm & fau wEifaE @ e s mE
Yed wH A al Hi eaEn sy

What are different stages of Product Life Cycle of a product?
What is the importance of Product Lile Cycle in marketing?

15

T8 3om® & 3@OR sem W% % fafge = s a7
faum o 3o S 9% =1 T mee Y

26013/K/2583/9,700 2

What is meant by product mix? Describe the different aspects
of product mix and explain the factors affecting product mix of
fim. 15
S fRgm ® ow oaed 87 swm fasw % fafis
WA H AU FIWU MR wH F sAOm fAgw i
T H A FREF HKI AT HiU)
Discuss the step by step process of developing a new product.
15
T A9 IR fawfag F9 F7 Su--ww iR W
= Fifem)
Explain the factors affecting the selection of suitable distribution
channel. 15
STE faRu 9 & W W wdfed w9 SR
w A RIS

26013/K/2583/9,700 3
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BCE/M-22 26014
E-COMMERCE
Paper--BC-204
-~ Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory. Select four questions from the remaining
eight questions.

TH W Y F IR w9y wew 1 st

m_ﬂdgdi.n@%ﬂﬂ.ﬁﬂm%e
Compulsory Question { 31fa/™d gy7)

I~ Write short notes on the following : 5x4=20
Fefofed = dufta fewforat fafan; -
(a) Differentiate between Internet, Intranet and Extranet.
3R, TR SR TRLRC @ dm s Fifa
(b) What is Firewall ? What are its limitations ? )
FRREE 87 The Omm e o
(c) What is E-mail 2 What are its features 7
A R0 TEe favivae w0
{d) Explain B2B and B2C.
B2B 37 B2C 1 wHemEu|
26014/K/2697/9,700/T P.T. O.
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“‘.

('S

Wh

(e} Explain Financial EDI.
fasita €8tam (EDI) =+ =men wifam

What is E-Commerce ? What are its features 7 Differentiate
between Traditional Commerce and E-Commerce. 15

R atere ﬂwuﬁﬂgﬁ% Eivite e e

IR wimd # dm Fw i

What is-MIS ? What are its objectives ? Explain
the characteristics and various approaches of MIS
development. 15

THAETR F Y7 THE I F E eE fawm w1

fogivast o fafr= sfiesmi w1 omen 3t

What do you mean by E-Governance ? What are its
features ? Explain various models of E-Governance with
example, : 15

T A T w1 omwsW B soEl faeivaw Fm §)
Tty % fafas died w1 e whm @wemEm)

Explain the concept of implementation of EDI and also

explain applications of EDI. 15

EDI % ®mf=d #1 s@aynon #1 =amen Fifan sw £D]
% ;z-mn_J&%u_. :Eﬁ%ﬂ_

What is M-Commerce ? What are its advantages also
explain the benefits of M-Commeérce in India ? 13

T-FMd ;T T W W ¥ owwd § woownd

F o W = d wmw w0

26014/K/2697/9,700/T 2

Explain the following : 15
frafafem =1 =men =it

(a) Secure Flectronic Transaction (SET).

WTT ToRi—$ omed (F2)1
(b) Computer Based Information System (CBIS).
TR AE I womelt (Hetemdny) |

What ts Internet 7 What are the Hardware and Software
requirements of Internet ? Explain the different ways to
connect internet at Home. 15
T N B7 TITE W OREST SN WA SEvaEany
FMOE? W W I TR FE F (AT a9
T FITS|

What do you mean by Information ? What are its
characteristics ? Differentiate between Data and Information
and also cxplain various categories of Informatian.” 15

S

I ¥ A9 F GEEd £ S faviedm @ 27 2
SR HE AW ge w5t fafy= afnd % A shw s

26814/K/2697/9,700/T 3



AwSl H TR @ WF ® w7 H e
HifsT)

(b) How does the procedure of drawing a histogram
differ when class intervals are unequal in comparison
to cqual class intervals in a frequency table 7§

VA ARARA difefRl H HAM a6 HaUe # go o
5 fa=m w27

26015/K/2865/8,950/T 8
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BCE/M-22 26015

BUSINESS MATHEMATICS
Paper-BC-205

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory. Select four questions from the remaining
eight questions.

F U I F I GfAU w1 AtEd
21 v Bme vl A § ww yvE & w9 #ieu
Compulsory Question ( I amd W)

I. Write short notes on the following : 5%4=20
frefefen W wiya femforal fafau:
(a) In how many ways can the letters of the word
ASSASSINATION be arranged so that all the S’s
are together 7
e ASSASSINATION & 31&% &t fdad wwR 9
rafted fdm o @l € F 9 S ww @™ E?

(b) How many 3-digit numbers can be formed by using
the digits 1 to 9 if no digit is repeated ?

| |9 TF F AR F IT HE TwAA 3R
TN FE W WAl § A FE sw S 3 W
{¢) Find x if the 17th and 18th terms of the expansion

(2 = x} *30 are equal.

26015/K/2865/8,950/T P.T.O.



Ife |7 fer F 8 W E
(2 - ) SN0 TET E

What kind of diagrams arec more effective in
cpresenting the following data -
= m “rw\.um .“L(m..ﬂu. ﬁ P

A At TuE = 5

9 4 fow ygw #

(1) Monthly raintali in 2 Lear

(1) Compasition o

H T j =T uJu_.nl.\\.ﬂ =TI

UF FEEE T

2. (a) Find the number of arrangements of the feters of

the word INDEPENDENCT 10

INDLPENDINGY 772 % a9y =37 wpgmens ©
TN W Hife)
In how many of these ar

TH O fEaf srmmai o)

SCMICN S,

() do the words i P
F T= P T
(113 de all the vowels alhvwavs ocenr toecthern

WA Ty o T

20015/K/2865/8,950,T 2

VCrooceur together

A FH TE oWy 7w

th 1 and ond in P9

. e e
YO ODS Y

(v do the words heain

%ﬂﬂ_ﬁ,.ﬂuj. AV P W OFU 2R

Q...
thy How many J-digit numbers can be formed by
using digits 1 1o O it repetition of digits is not
allowed 2 3

ﬁ?mﬁjjﬂmﬂﬁgﬂﬂw%ﬂﬂ_

H O FE A
T WEA E7

irls and 7 bovs. In how many
members can be selected if
the weam haos 9

(@) A group consists ot 4

W¥
wayvs can a team of 3

T+ J92 § 4 ST 7 @mEH El 5 wEwr W
mﬂﬂﬂﬁwﬂﬁﬁﬁﬁﬂ Atz g
F U

{1 no eirl ? -

EECANE AV

(it} at least one boy and ane uirl

{rh at least 3 oirlg 2

&

HH T FH 3 wHEtEe?

(b T how mamy wan s can 3 2irls and 3 bovs be seated
Mg rew 3o that no two boyvs are together 7 6

26015/K/2865/8.930/T 3 P.T.O.



(a)

(b)

(a)

(b)

FS W oHwal & FE S @ weF uw Ty
g7

A ;o

Find the 4th term from the end in the expansion of
9
ﬂNw MJ
_f 2 xi . i
.ﬁNw N Jm 5 ~ . + -
ﬁM{l& F fowr  oiq @ =en W A Fife
X

Find the term independent of x in the expansion of

)
7\| 2x%) !

h% /ﬁw F fomr ¥ x F1 W9y | AW

EqHERE

Solve 3x + 2y > 6 graphically. 5
3x + 2y > 6 H NEETE T4 T OETH HITeU
Solve the following system of four inequalities
graphicallv '

T TA I

26015/K/2865/8,950/T 4

y >0 ... (4). 10

Solve the following svstem of equations graphically:
THEHT F1 fafaied yomelt &1 aeEm w9 oz
m%j.m“

(a) Maximise Z = 3x 1 2y

Subject to x +2y <10, 3x+y <15, x,y 2 0. 3
(b} Minimise and Maximise Z = x + 2y

Subject to

x+2y 2100, 2x -y <0, 2x + y < 200; x,y 2 0.
10

A manufacturing company makes two models, A and B.
of a product. Each piece of Model A requires 9 labour
hours for fabricating and 1 labour hour for finishing.
Each piece of Model B requires 12 labour hours for
fabricating and 3 labour hours for finishing. For fabricating
and finmishing. the maximum labour hours available are
180 and 30 respectively. The company makes a protit of
¥8.000 on each piece of model A and 712.000 on each
piece of Model B.

How many picees of Model A and Model B should be
manufactured per week to realize a maximum protit

h

What is the maximum profit per weck ? 1

26015/K/2865/8,950/T 5 P. T. O.



ER o N N T o e
A TEE TERZ F AN % U 2 9T HE ww R

39 9 3 T
.:_mjﬂd IUES AT ﬁguuﬁﬂ” 180 #R
W0 F Jﬂﬁmﬁ»ﬁmﬂﬂ

EASEIL T i T B e
ﬂt,Un mw m”ﬂ Eﬂﬂ Nm_"_‘/u kT “ﬂ‘u

he)

PIGEE s A I Cor = Ml L

The Indian Sugar Mills Association reported that. “Sugar
production during the first qu:_:,w;: E, December. 2001
was about 3.87.000 tonnes. as agatnst 3.78.000 onnes
during the sane lortnieht last vear | u ). :n oft-take
ot sugar from tuctories during the {irst fortnight of
December 2001 was 2.83.000 tonnes for Internal
ﬁo:ﬁ:}:ﬁ:o: and 41.000 tonnes for cxports as against
1.54.000 tonnes for Internal oo:..f,:_:m::: and nil for exports
during the same fortnight last season. 15

~

e s faey TR, “femaw, 2001
F g T T & RUE HE W SAIET SN 3.87.000
=T e,

- A W (20009 dqﬂu@mﬁ%uﬂﬂ
378000 TH OAE] F ITMER BT 4l 2001 F YA
r_._Lo:m mw nT_I BRI ﬁ I\_.?m w13 SH 283000 24
AAH T w fAuoan 4 o000 = FER ow Ao
wtE AATE wmIE o e | sioon 73 s freer des

F HOH T % ANE e % fAm owe oen)”

26015/K/2865/8,950/F O

()

(bl Suppose vou were 1o present these data in
diagrammatic form which of the dia
vou use and why ?

ams would

Py

ﬂﬂjﬁngzﬁﬁ &n_ﬁmddﬂﬁqﬁ

ey Present these datu diagrammatically.

AT LuT T v o

Wl tii “T PR - -

Yoot the following table shows the estimated sectoral
cal growth rates (percentace ohne vuer the previous
seardy in GUP at ficues oo LU
e afdE e UTOHFE W 3R OH
ST &M ArEAE AEm Tt 59 @ qe
N gt ufedd’ e E .

Year Agriculture and Industry Services

albied sectors

1994-95 3.0 G2 74

SRRV BN | Lo

FUu6-97 .6 i

PonrTogy Y < )

IR 70 B 8.3

1OV 00 N (oY) RO

Represent the data as multiple time series craphs.

e

OIS/ 2R65/8.950/T 7 P.T.O.
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CBCE/M-22 26016
BUSINESS ENVIRONMENT OF HARYANA
Paper—-BC-206
Time Allowed : 3 Hours| [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

compulsony.

el O v % I difen YR Hem 1 A

T

Compulsory Question ( 3tfrard ¥97)
1. Ixplain the following i brief 4x5=20
=itz 1 Hes H oo
(ay  Small scale industry.
(b1 Pradhan Manot Fasal Bima Yojana.
TAEEA FEA AT AT
(o Peonomic Development.

|

AT

(dy Mulunational companies.

Al

(o) Difference between Progressive and Regressive Tax.

WAV 57 WA R % w3

TGN 2T 4R OR0 I T. O,



26016/K/2584/8.950

“NABARD is the apex institution in the area of agnculture and
rural credit in India™. In the light of this statement. explain the
main functions of NABARD. 15
YTEE 9 § O st wei wmwm % 8w ¥ geie
Hel BT TR W AR AR Y T F g s
F1 =En Fifs)

What do you understand by Special Economic Zones? What
incentives and facilities are offered to the developers of Special

Economic Zones and business units set up in the Special
Economic Zones? 15

foerw anfefw &9 & om0 gweR & fvm afdE e
& fommasaiat o foem anfde auf F werfre ST
Al KT OUREE o gawd W w3 s 8
What do you mean by Government Budget? Highlight the main
features of the latest budget of Haryana. 15

WER a5 § o9 W e ¥ RETn § etn
I Hl qeA favimeei W www =fen)

What do you mean by the term "Agriculture™? What are the
causes of slow growth of agriculture in Haryana? What measures

would you suggest for its improvement? 15

F W A e wn wwww 82 forn 9 30 @ @
e & #=0 Fw €7 e R gun % fov = T
A2 .

What are the causes and effects of rural indebtedness? Suggest

some solutions to the problem of rural indebtedness. 15

I~

=1

WHITT KON H FRO SN §OE wm £ weEm
RUTEA I THE F HT [HHE HIE

Write an explanatory note on Haryana Financial Corporation,

15
%Eﬂdmﬂﬂﬂ%g@w@d

State the problems faced by Micro, Small and Medium
enterprises. Discuss the steps taken by the Government to

R )

deal with these problems. 1

Hqem, =Y AT TAE TR B W AW IRt wnens
F Ioord WG I owmens @ froey % fem wewm
S 32N M FTH FI owE wiTem)

What do you mean by multinational companies? What factors

have coniributed to the growth of multinational companies in
Harvana? i

TGIEAE HATN T A o OnEd 87 efEmn o
LA FUE o faEE § R wEel w SR

vy

26016/K/2584/8,950 3
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CBCE/M-22 26027
PROGRAMMING IN C
Paper-BC(Voc.)-205

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. I is

£

tad

compulsory.

(a)  What is function parameter? Explain different type of
parameters in C. 4

(b)  What is pointer? Explain how the pointer variable declared

and initialize. 4
{c}  Define structure in C Language with examples. 4
{(d)  Write a program in C to swap two numbers. 4

(e)  What are primitive and non-primitive data type? 4

What do you mean by Static and Dynamic memory allocation
in C? Lxplain with example using static and dvnamic variable.
15

Explain different fite opening modes in C? Write a program
in C that merge the contents of two files and write results to
anew tiles. i

tn

Fxplain character set and data type used in *C” language
along with examples. 15
Fxplain different type of storage classes available in *C” language
along with their scope. storage and lifetime. 15

20027/K/2586/850 P.T.O.



6.  Explain character set and data type used in *C" language
~along with examples. . 15

7. mxw_mms standard Library function to handle string in C with
examples. 15

8. What are different file opening modes in C? Write a program
in € that merges the contents of two files and write results
to a new files. 15

9. What is Macro? Write mracro to determine whether the given
number is odd or even. . 13

26027/K/2586/850 2



8. Explain concept of Mobile applications, discuss types Rell No. .o . Total Pages : 4

and sources of Mobile applications. 15 : . N@GN%
CBCE/M-22
Hasd Uy & sunm ' s Fifow, HaEs .
ahyd & TR 3k g9 W ==t Ffe BUSINESS DATA PROCESSING
AND PC SOFTWARE-II
9. Write notes on the following : 15 wmvnwlwﬂ?\oov\woo.
W & Time Allowed : 3 Hours] [Maximum Marks : 80

{a) Data Entry of various data types i Excel.

T m.@?ﬂﬁﬂzﬂ,mﬂﬂwﬂ@_

Note : Attempt five questions in all. Question No. 1 is
compulsory. Select four questions from the remaining

(b) Preparation of Speaker notes in PowerPoint. eight questions.
wERdise ¥ T Hew Tan | %ﬂﬁnﬁ%%ﬂﬁénﬁgHﬁmﬂR
(¢) Printing in PageMaker. € IS e ¥ W v W
TS W e Compulsory Question ( 3tfrard wyv)
. Write short notes on the foliowing : .20

Frefafen = wafa feoforal fofa:
(a) Name any four DTP softwares.
FE T S e A fafan
(b) Write four features of MS Word.
THIE 9% FH WR favivad fafan
(¢} Write four applications of Mobile applications.
TR TSRV % AR ey fafEn
(d) Discuss Spell checker in MS Word.
TR wE H v Swt W e #iem

26028/K/2828/850/T 4 26028/K/2828/850/T P.T. O,



(e} Write four major differences between PageMaker

(b) Explain Formula insertion and use of IF statement
and MS Word,

in Exce].
THE AR TIGE 9¢ ¥ W wgw sw fefeu TR § T T % wige sl S swa
2. In context of Word. discuss - [5 FI FIE Hif)

R F Hed f, 9w Fifeg: 6. (a) Make a Slideshow using five different styles of
(a) Line spacing. (b)  Word Art. PowerPoint.

TE Gl PowerPoint #1 919 Fem-swem el &1 374
(¢} Text formatting. (d)  Page formatting, ﬁw% Th TAES WA

T3 ey I3 TgEgT| (b) Discuss the following :

3. (a) Discuss Software and Hardware requirements for =3 = u
DTP. (1) Use of Custom Animation.
ST & AU SRR o wEam savamast w HEH T # 3T
== Fife)

(i1) Insertion of Tables.

(b) How SPSS is able to carry out data analysis. 15 TS @ e
SPSS ®H a1 favemm v § mem . ,
. (111} Sound effects.
4. (a) Explain use of Table handling in Word. = garg)
T2 H Ha Fefan F IUANT HHATET) . (1v) Use of Notes. 15
(by Discuss Mail Merpe with examples. 15 K q79 FH I

CLE R R A W ! 7. Explain Page sctup in PagcMaker, also explain

5. In context of Excel. discuss - 15 various features related to table insertion and data setup
. < . . . 15
THE # W H wE i n tables. >
() Any four mathematical or statistica functions. . . ﬂ aﬁ H_mdﬁ ﬁ A . NN mﬁw
. . . <9 W SA W29 9 Hatyd fafuys favivasy sy of

FE TE TR W T e A i

YU

26028/K/2828/850/T 2
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Roll No. ... Total Pages : 3
CBCE/M-22 26030

LIFE INSURANCE-II
Paper-PPI BC (Voc)-205

Time Allowed : 3 Hours) [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory. Attempt four questions out of remaining
eight questions.

FE T IV F I A g w1 stE
?&zﬁ&ﬂﬂ.%@ﬂﬂﬂ&.ﬁﬁﬂ%&
Compulsory Question Aﬂ.m_m_._.% ayT)

. Explain the following in brief : 3x4=20
frefafas #t wdm & smen i .
(a) Nomination and Assignment.
THIFA T FEAEA
(b) Individual Life Insurance Policy.
fFrE Sed i e
(c) Broker.
AT
(d) Code of Conduct.
=N Fiwdl|

- 26030/K/2829/50/T P.T. O’



(e) Process of Valuation.

Hediehd i Wi

What is Life Insurance ? What are its main features ? 15

e dm oFn 82 e gen favmad #e-ee @ 82

Define Life Insurance Policy. What are the different types
om. Life Insurance Policies issued by LIC ? 15

S & uifedt & 9ienfeg wifaw) Sem &
g0 W o fafe= gEm oS den ifewiE
FHE-BE @ E

What do you mean by Annuity? Explain the various kinds
of Annuities. Also distinguish between Life Insurance
and Annuities. 15

it ¥ o F@ o € affst & fafam vl
F 9ol HIfqw Sfem S s et § s s
T

What is meant by Claim Settlement procedure 7 What
are the steps in Claim Settlement procedure ? 15

Steq o = fruem wheE w1 w st @7 Sies S
T M9em g § ®H-9F ¥ Fen 22

What are the eligibilities to become an Insurance Agent ?
What are the functions of Insurance Agent? 15

dm sfqedl S F ArEEd FH-EHE H € &
gt & F= wE 22

26030/K/2829/50/T 2

What is the meaning of Life Insurance Salesman ?
What qualities are needed to work in the Insurance
Industry ? 15

St wm fawasat w1 oFn owd #2 dmosEm o wm
F & fau feq 0 w1 sEvEedl ER @7

What do vou mean by Insurance Canvassing ? Explain
the procedure and methods of Insurance Canvassing, 15
I YER W e g Afaum 77 W & wER &
gy wd fafvmi @ avE ey

Explain the following in brief : 8.7

frefafaa =1 gaw o =mEn m_%}d_.ﬂ”

(a) Insurance Intermediaries in India.
qrd § < feifem)

(b) Survevors and Loss Assessment.

Tag W TRAE 1 STHEA|

26030/K/2829/50/T 3



Roll No. . Total Pages : 3

CBCE/M-22 26031
GENERAL INSURANCE

Paper—BC(Voc.)-206

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory.

@ U T ® IW ATy gem 1 sifEd
2

Compulsory Question ( Afqard )
1. Write notes on the tollowing : S5x4=20

freafafes wm dfsa  fewfter fofe:
(a) Define General Insurance.

it e BC B e G MG 1] .
(b) Z.o?. the Theft claims are settled?

o8 F el w1 Meem 9 fEmowa €2
(c) What are the teatures of Engineering insurance?
(d) Whatis 4 P’s of healthcare Sm%m::.m._v

TeqRM WA # 4W wm 22
() What s Liability [nsurance.

TAA Ao E?

26031/K/2699/50 : P.T. O.
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h

What is Motor Insurance? [s it compulsory? Explain the types
ot risk covered under Motor insurance. 15

T A A R? F gy AfEE €7 WX dtm $ sfa
A A SIfEN ® YRR R S wi|

What do you understand by the Rural insurance? Explain the
importance of Rural insurance. 15

TH ST W Y W |Eed 87 WHY Em $ T
1 T I

What do you mean by Multiple Line Insurance? What are the
vartous benefits of taking muitiple line insurance? 15

THITH &H ¥ HU R OGS 27 UHIUE o &
GERCRC I e s )

What do you mean by All-Line Insurnace? Explain the various
challenges faced by All-Line Insurance service providing
companies. 5
Ae-oET A [ 9w owEEd €2 fd-omgd
¥ QA WEH F Al R w W A ael fafy=

4

WS W o
ATl H AT

What is the Aviation Insurance? Explain the various risks

covered under aviation insurance. 15
fagma d@im w1 87 faora & # sai e 9
fafy= Sifed =t =mem wifsu

What ts covered under contractor (project) all risk tnsurance?
sFa (fEmsE) F oded @l SiEe Wtm % qed @
F fFm w22

26031/K/2699/50 2

What is the difference between individual and Group Health
Insurance? Which insurance plan is a better option individual
or group? 15

SfFTH AR EfeE weed €9 ¥ = oRN 22 SE-H
9 A T Sed fawew wfa T uHs ®7

What do you mean by Hull Insurance? Which types of risks
are covered under Hull Insurance? 15

UHER WM W Y #E g9Ed &7 Ygal | % siava
fFg WFR & WTEd wiha &7

26031/K/2699/50 3
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CBCE/M-22 26032
MARKETING COMMUNICATION-H
_umUoTwQ,\on.v-womgfmmm?:
Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory.

w1 UE T F IW A wed wem 1 st
Zl
Compulsory Question ( 3mard g )
I. Answer the following short questions : 5x4=20

Fefafas @9 v & sw @if:

(a) Discuss social functions of advertising,
e = wfas = wo=a wie

(b) What is the role of feedback in communication process?
T W oufEm @ s qfsmm @2

(¢) Define event marketing.
W fawm W i e

(d) Discuss the need of integrated marketing communication.
THEFd FBH 997 # sEvewma W oagi ESiiy

26032/K/2700/100 P.T.O.



5}

0.

(e} What 1s the sales promotion activitics related to dealers?

Terl | dafug fawl Taws afafafer wno 12
Explain the various stages of marketing communication process.
Suggest some wavs to improve the marketing communication.
15
fquum ==R Slw & fafs= wem = smen sifew
A W9 #5198 99 % fEu Hm  3A10 mmu:m._
What do you mean by advertising? Discuss advertising as a
tool of marketing. 1

h

G @ @9 T owume £ faum # U I #
=1 4 fagmd W == FifAu

Define sales promotion. Explain the various methods used for
sales promotion in detail. I3

faml gadn =1 gfiafes =wifgu) fag w@wdq % fou
I HT FA den fafas fafudi s fawm § s
Eqiisied

Define personal selling. Why is it important tor marketers?

h

Explain the process of personal selling. _ 1

AT ¥ UE A F 0w oA Fife

I

What 1s meant by integrated communication” bxplain the various

tools of integrated communication. 15
TEFG e w g A 27 o= & fafa=
IUFHO F s Fifau

26032/K/2700/100 2

Write a detailed notes on the following:

(a)  Main constituents of advertising strategy.

fag wEfe * 9= ww

794.7%

(b)  Source in marketing communication.

IEEIE B el == d

8. What do vou mean by advertising” Fxplain the scope and
recent trends ot advertising. 15
fasms 3 o9 0 e 2 fawm ® oam ol dde
I H A Hifau

9. Write a detailed note on Publie relation as marketing tool.

15
faum sy % w1 ¥ SAEwE W U fawea foopoh
T ,

26032/K2700/100 3
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CMCE/M-22 26033
CREATIVITY IN ADVERTISING
Paper-BC-Voc.-206
Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory. Attempt any four questions from the
remaining eight questions.
wA e YA Fifew wvE gew 1 afEd 9w
e YN B OB OFE W T wifeu

Compulsory Question ( afrard uw)

1. Answer the following in brief : 5x4=20
frfafen &1 @i 4 s dfww:
(a) Define Creativity in Advertising.
fagra o wagwar @ afifed Fifu

(b) What are the elements of a Printed Advertisement
Copy ?
TF T faAmm wfa & d@ €7

(c) Explain with an example. the impact of slogan in
Advertisement Copy.
fasm™ wfd 4 W= & Y9 & 39w Ofed e
EAlEI

26033/K/2914/100/T B P. T. O.
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6.

(d) Write short note on E-Advertising.
sfommm w Hfaw fropod forfam)

(e) Give five main expectations of an effective Advertising
Copy.

T P fa wfa 9w ger amend @
Discuss the determinants and importance of Creativity in
Advertising,. 15
faeme o e # fufe ok wem W e w6t
Explain the principles to prepare an effective Advertising
Copy. 15
UF el faers i T ww
caiELy

Eallk=rcin

Discuss the difference between Traditional and Online
Advertising. 15

RIEiEC o s e e fasres & &= st W=l =i

What is Advertising Appeal ? Give some examples of

Rational and Emotional Advertising appeals. 13

E T TR i)

Critically explain about Transit Media Ady ertising. 1%

Zifsrz difem faart & v & woeEAEmE ST 33 g

What Specific Points will you consider while preparing
copy for direct mail in Flight advertising 15

26033/K/2914/100/T 2

e[ fomA O i = & fou 9y dOR W 9@ g
77 fafere fagal w fawm =92

8. What is meant by Transit advertising 7 What are its
Advantages ? 15
iz faerd | @ @l 20 Tmw o w9

9. Discuss the role of "LOGO" in effectiveness of
Advertisement. 15
fomm =1 wsmeefea & ‘S’ (LOGO) &t qfirs i
feremm wifem

206033/K/2914/100/T 3
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CBCM/M-22 26034
CORPORATE ACCOUNTING-II
Paper-B(C-401
Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory.

FA WS g & TR {0 v gen 1 afEd
2

Compulsory Question ( 3famd woT)

1. Write short notes on the following : - 5x4=20
Wﬂ@@a R Wy feofol fafag:
(a) Need for Valuation of .Oooai:.
=fa & eAwT w SevEwl

(b) Five factors affecting the valuation of Shares.

AWM ® T ® wfad FH oA GE FEE

(¢) Pre-acquisition and Post-acquisition profits of a
subsidiary Company.

TF WEEH w1 FOPE-fmrm R afamrn @
K 1 el

(d) Preferential creditors.
qaifgsHR o RR|

26034/K/2455/9.800 P.T.O.



(¢) Actuarial valuation in respect of Iife Assurance.
W A F Fey s Sifem % fow wea)

Explain the need for valuation of Shares. Also explain
with suitable example, the various methods of valuation
of shares of a Company. 15

S % GEET T SR B oWe Fh B e
%gﬁ%ﬂ_pﬁﬂuﬂmﬁﬂ@aﬂﬂ%ﬁﬂa
wfed wwemy

The following is the Balance Sheet of XYZ Lid. as at
31st March, 2019 : 15

31 WM, 2019 H THEENE fafes W Soiw v fo
2

Particulars ¥
I. EQUITY & LIABILITIES -
Shareholder’s Funds :

Share Capital 10,00,000
Reserves and Surplus 2.61.300
Non-current Liabilities :

9% Debentures 4,20,000
Current Liabilities :

Trade Payables 1,18,500
Total 18,00,000

26034/K/2455/9.800 2

II.

ASSETS :

Non-Current Assets :

Freehold Property 4,00,000
Plant & Machinery 3,20,000
Goodwill : 50,000
Current Assets :

Inventory 3,880,000
Trade Receivables (Net) 5,00,000
Bank Balance 1,50,000
Total 18,00,000

Profits after charging interest on debentures and tax
for the year ending 31st March, 2017, 2018 and
2019 were ¥2.40,000; %3,30,000 and ¥2,65,000
Tespectively.

You get the following Informations

(1) The normal rate of return is 10% on the average
capital,

(i) The value of frechold property is to be ascertained
on the basis of 8% return. The current rental
value is ¥48,000.

(1ii) Rate of tax applicable is 50%.

(iv) 10% of the profits for 2018 referred to above
arose from a transaction of non-recurring nature,

26034/K/2455/9,800 3 . P.T.O.



(v) A provision of 25,000 on Trade Receivables

(vi)

was made in the year 2019 which is no longer
required. Profit for the year 2019 is to be adjusted
for the same.

A claim of ¥10,000 against the company is to
be provided and adjusted against the profit for
the year 2019,

You are required to calculate the value of
goodwill on the basis of annuity of super profits.
The present value of ¥1 for three years at 10%
is ¥2,487.

31 W, 2017, 2018 3T 2019 #! W@ TR
et a% % far woeR W = ok w agert
% AR WH HA: 12,40,000; ¥3,30,000 3R
$2,65,000 ¢

(i)
(1)

(iii)
(iv)

v)

S Yt W s w1 oamRR 10% 2
W Bles WufW w1 goared 8% fied @
YR W FT B &dﬁnwmﬂm.ﬂ_ﬁm.ooo.

FC F AT T 50% o

TR feaafad 2018 F 9 FT 10% T-adt
THA % o9 ][ ¥ I ga

T¥ 2019 9 =R wfeat W $25,000
TagE fEm T o e s smavEEd

T B ad 2019 % fow @y W s @

fo wamifea fear s @)

26034/K/2455/9,800 4 ;

(vi) BT B flaem® 710,000 ® & F TEEA
foem w1 @ otk @ ad 2019 % WY ®
faens gEMTSE fFar o 2

sfu-sny | nenf@ e fafy & =fa
® Yed F MU RHFU 10% FT O R
7 af ® foq 71wt aff®l & Fda
T 72,487 B

From Em Balance Sheet given below, prepare a consolidated
Balance Sheet of H Ltd. and its subsidiary S L.td. 15
= fafiee v 3o weEw w9 ww e @ =
ﬁﬂ.ggﬂ%gwﬁsw%"
Balance Sheets as on 31.3.2016
H Ltd. S Ltd.

Particulars ¥ ¥
EQUITY & LIABILITIES : |
Shareholder’s Funds :
Share Capital :

Shares of £20 each fully paid 60,00,000 15,060,000

General Reserve 17,00,000 w.oo,ooo
Surplus (Profit & Loss) 7,00,000  2,00,000
Current Liabilities :

Trade Payables . G.oobo.o 5,00,000

Total : 99,00,000 25,00,000

26034/K/2455/9800 5 - RT.O.



II.

ASSETS :

Non-Current Assets :

Plant & Machinery 65,00,000 12,00,000
Office Equipment 10,00,000  6,89.000
Investments :

45,000 shares in S Ltd. at cost 11,00,000 -
Current Assets :
Inventories 7,00.000 3,00,000
Trade Receivables 3,50,000  2,00,000
Bank Balance 2,50,000 1,00,500
Current/Non-Current Assets :
Unamortised Expenses - 10,500

Total 99,00,000 25,00,000

———

The shares of S Ltd. were acquired by H Ltd. on July 1,
2015. On March 31, 2015 S Ltd. had following balances

General Reserve ¥2,40,000

¥1,00,000

No part of Unamortised expenses was written-off during
the year ended March 31, 2016.

Profit & Loss

Frepare a consolidated Balance Sheet of both the
Companies as at March 31, 2016.

26034/K/2455/9,800 6
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26034/K/2455/9,800

1 9%, 2015 ® TH f@fds g ww fofies & o9l
w1 AfamEe fFar T oo 31 W, 2015 W UH fafies
*® g frafafas 9w 49

qH= fiod

=@ ik T =
™E 31, 2016 H AW 99 & INF URENEE S H
wE ot 9am ergfefed TE fem omEroem

31 |, 2016 =1 fRafa & omgER S wufEl & UHigd
feafa fagmm a9Ew)

¥2,40,000
¥1,00,000

What 1s Statement of Affairs in case of liquidation of
Company ? When is it prepared ? Give a specimen form
of this statement and explain. 15
FIA T H wed | frufa faowor F=n v 87 € w=
TR fEm W@ 27 5@ e @ ww oAg A ik
THH! A HITATY T

Explain the Slip system of Bank book keeping. What are
its advantages and disadvantages ? 15
9% TEIEE H IE ugid % wWe s ™ Tgh #
REEER -

Madras Textiles Ltd. went in to liquidation on March 31.

2015. Following information is available : 15

Y JFeRed fafids w1 31 W, 2015 % Ufew

warE gaml Tefafem Sl Sye= ®:

7 P. T. O.



20 3F. 2015 H WU T R JIAE fRI T FemE
=1 qE Rl GGl W 2.5% AR S wHEl Wl

T
THAE U W 20% IREfEe fAtvem gam e
hin H o 5
Cash in Hand 12,400 s faerm @@ TR wit
T TFE
. &  On March 31, 2015 the books of General Insurance
The assets realised as follows : . . . .

L Company Ltd. contained the following particulars in respect
Tt fer T m_ﬂ of Fire Insurance Business : 15
Plant & Machinery 60,000 31 9, 2015 =1 SR AT S fofee w5 g §
o o weisd q =i =maas F g9y ¥ faafafeas faem wmines 9
Inventory 40,000 {000y
wE Reserve for unexpired risk on 31.3.2014 5,00,000
Preferential Creditors 4,500 A e F fae gea 31.03.2014
ﬂmiﬂ.ﬂ_.m ICELAL Additional Reserve on Hﬁ.u.woz, 1,00,600
Unsecured Creditors 1,50,000 AR 3 31.03.2014 -

.ﬂmﬂ 3 . B Claims paid 6,40,000
8% debentures (Interest paid up to 30.9.2014) 40,000 R

8% RUITH (30.9.2014) % S F YTEH) Estimated Liability in respect

of outstanding claims :

Liquidation Expenses _ 2,516 L , ,
7 = | | FFEE A Hdd A ORAEAA <Hl:
. : On 31.3.2014 65,000
Share Capital : 8,000 shares of #10 each 80,000 . 7
On 31.3.2015 90,000

Syrgat: 8,000 W THE 10
Debentures were paid-off on June 30, 2015. Liquidation
remuneration was agreed at 2.5% on assets realised and

2% on the amount distributed to unsecured creditors. Pre- paid in connection with claims) 2,80,000
pare Liquidator’s Final Statement of Account.

Expenses of Management

(Including ¥30,000 Legal expenses

A 26034/K/2455/9,800 9 P.T.O.
26034/K/2455/9,800 8



e e a4 2014-15 & form afq & WU @ FR A9 -g
i 3fod WY § AW Sifeu) erge Sifed & o

TE % Haw 9 JH PR N : . :
( g = 50% =99 AR F1,00000 FH1 e =99

T 30,000 FIAT =T AET) Ffow 99 o fF 9iftEm o) T R TE W™E YR
Re-insurance Premiums 75,000 % ARl AT | MﬂH A T 3R 9RE W Y™ FYOH
TET i foren T w=a dfEm 1125000 @

Re-insurance Recoveries 20.000 9. What are the usual adiustments and the journal entries to

- be passed in respect of such adjustments in case of
kSl mﬁw _:.,:MS:Q m,c:,ﬁpm.ﬁm ° . 15
Premiums 11.20.000 e s 3 o= % oM o F OTHERA % T
it T wT= mEAEd SHe wiatedr #= 87
Interest and Dividends 64,520

e R S
Income-tax paid 6,520
SMARL & I

Profit on sale of Investments 11.000
fafmar = fowa m =9

Commission 1,52.000
HHTH

Prepare in prescribed form, the Fire Insurance Revenue
Account and Profit and Loss Account for the year 2014-
15 reserving 50% of the Premiums for unexpired risks
and keeping an additional reserve of ¥1,00,000. Assume
that one-fourth of the premiums and claims are applicable
to business outside India and that the gross premiums
written direct in India amounted to T11.25.000.

26034/K/2455/9,800 10 26034/K/2455/9.800 11



Roll No. oo Total Pages : 3

CBCM/M-22 26035
BUSINESS STATISTICS-II
Paper-BC-402

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

compulsory. All questions carry equal marks,

A W WA # IW AT W w1 sfam
B oEd WA # siw wmm ¥

Compulsory Question ( 3fam Uy )
1. Write short notes on the following :
fretfafen w @y @ fofac:
(a) Coefficient of determination.
HAYRI T[0T |
(b) Properties of Regression coefficients.
AT o 1o
(¢) Equally likely events.
O ®9 ¥ gfm s
(d) Assumption and Applications of Poisson distribution.
W e # meEe A e

26035/K/1500/9.750 T O,



2.

Lo

(¢} Relation between Binomial, Poisson and Normal
distribution.

Wﬁ.@mﬁﬂﬁﬁmﬁﬂﬂwﬂsmﬁﬁ_

Calculate coefticient of Rank correlation from the following
data :

= el & Fife o7 we-wry E @ FHi:
X: 15 10 20 28 12 10 16 18
Y: 16 14 10 12 11 15 18 12
Write notes on the following :
(a) Probable and standard error.

Jrg. fagg g gog fyum,
(b)  Multiple and Partial correlation.

UHIEF U SRR wEga
Following are the heights of fathers and sons in inches :
fGaet qen oo % F2 = 4 AR fRm mw &,
Heights of fathers: 65 66 67 68 69 71 73 67
Heights of sons : 67 68 64 72 70 69 70 68

Find the two lines of regression and calculate the estimate of
height of the son when the height of the father is 67.5 inches.

A mMHAM @ WE wf, 99 ® % @ siwen
i #fc fos =1 #2675 T

26035/K/1500/9.750 2

5. Write notes on the following :
frefeafe w femfoal fofan.
{(a) Standard error of Estimates

A F oyEg faym
(b) Regression Equations.
VAT TR

6. Find the probability distribution of number of kings drawn if 2
Cards are drawn without replacement from a pack of Cards.
e 99 # TF TEE H ¥ Teen wan faw Amm w@
T TR free WY @ aRve # freee w e
IEELE I Eed

7. Three coins are tossed simultaneously. What is the probability
that they will fall 2 heads and 1 tail?
TE fawRl W UF WY ISeE W 2 e 9 1 faw e
w1 F WfEwa 27

8. Discuss the arca property of Normal distribution. What is the
utility of this property in Normal distribution?
T faamn & &7 uieE @ oAl wifww) giferEy o
T OWWE W oW SuEif @7

9. If the Jower and upper quartile of normal distribution are 10
and 20. find the value of mean and variances.
R T wmr fawm & @ o3 4" wgelw wmme 10
T 20 B A TER WA F T FARU

26035/K/1500/9,750 3
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CBCM/M-22 26036
BUSINESS LAWS-II (THEORY)

Paper—BC-403

Time Allowed : 3 Hours] [Maximum Marks : 80
Note : Attempt five questions in all. Question No. 1 is
compulsory.
FF U T % SR LU weE Hew 1 sfer
2

Compulsory Question ( 31F@ER= wyT)
1. Write short answers of the mo:oém:wn 5%4=20
frafafes TR v & 3@ dfem:
{a) What is promissory note? What are its essential features?
sfaa W F 87 TwHl Fn favmend @7
(b) Distinguish between partnership and co-ownership.
WEER o We-wfied HootRR it
(c} What is meant by Registration of firm?
T % U ¥ o afimE 72
(d) What is meant by Digital signature?
fesflear swmar &1 T @ed ¥

26036/K/1501/9,800 P.T. O,



2

[

6.

{c) What is meant by Competent Authority?
e afer w1 w27

Distinguish between *Holder” and *Holder in due course’.
Explain the special privileges granted to ‘Holder-in-due course
under the Negottable Instruments Act, 1881. 15
urll den ‘wufalyui’ % 9 o aaey fafrTe e
fovra  sfafm 1881 % sla wefefrd =1
miswr fau T, T ol w9 @ oemen #ifw

Give definition of Endorsement. Explain different types of

Endorsement with examples. 15
JEFT w1 e 3t 59 TR % yweimar @6
SERTY T HEEE

"Mere Participation in the profit of trade is not a conclusive
test of the existence of partnership.” Discuss. 15
“Fm ® el F feef B @ o 1 faemea
EARCICE e I B T [

What is meant by ‘Dissolution of a Firm™? What are the rights
and Liabilities of partners after the dissolution of partnership?

15
‘wH ow owm W oW s 27 WEEM % ETE %
BT WEEN ® B AfMER ud wHes €7

What 1s meant by “Limited Liability Partnership” (LLP)?
Discuss the nature and merits of Limited Liability Partnership

given in the Act. ‘ 15

=6I36/K/1501/9.800 2

“dife wrfaR WRREE w1 e o §7 afufem A
T difin e wERd # owEfa el o @t fade
EdiE
Explain the legal provisions regarding registration of change in
name and address of the partners of Limited Liability Partmership.
15
Hif i WER # WERE & W e T ¥ it
% ISR & Haw H quifR wEee w1 s wif)
What are the provisions under IT Act, 2000 (Information

Technology Act) relating to establishment and composition of
*Cyber Appellate Tribunal’? 15

e AR st 2000  WER sniein s

F W TE WA F N WEEE &7

Explain the Salient Features of Right to Information Act, 2005,
15

I 1 suwn sfufm, 2005 #1 difas faviwdnet

w1 aue wifsu

26036/K/1501/9,800 3



Time Allowed : 3 Hours]

Note

(a)

(b)

(©)

(d)

(e)

. Total Pages : 3

CBCM/M-22 26037
COMPANY LAW-II
Paper-BC-404
[Maximum Marks : 80

Attempt five questions in all. Question No. 1 is
compuisory.

el wrer vl #® ww A W w1 st
2l

Compulsory Question ( 3rf@md wow)
Detine the term Director.
‘wEEE W # ity hifeT|
What do you mean by Qualification shares?
RUECINE S R Lo
Write a short note on removal of secretary.
TEE % weE W W uE frowi fafan
Differentiate between Ordinary and Special Resolution.
WU TG W faNie wer ¥ s mmm
Explain the term Amalgamation.

THIF I H AT T 5x4=20

26037/K/1502/9,750 P.TO.



Define member and explain in detail who can become member

in a company. 15

e #F g e el @aRe fF T wEEl H
T HR §9 ghdal 27

Define the term ‘Director’. Discuss the powers and duties of

directors. 15
et v H TR Afsu e % afusR 1E
wdsm w1 fag=Ar wifa)

Discuss in detail the provisions of Companies Act related to

the Remuneration, vacation of office and removal of Director.
15

O e Afufes o meeel & wfiisfus, ||
3R YT W ®IAU WH W Haryg swEwensti w1 fgwm oo
T HIfG|

Write an explanatory note on the Legal and actual position of

a company secretary. 15

For wfgg #1 dufae o ondfes frufs WM o
=reaE qie fafem)

What is extra-ordinary meeting? By whom can it be called?

What are the [egal provisions regarding this? 15

SR ST W R FEd 87 T OHM qell Tl
27 U T & Haw o Sufrh egowed W g2

26037/K/1502/9,750 2

What do you understand by the term ‘Dividend”? What are
the provisions of companies Act regarding declaration and
payment of dividend? 15

T MY W T T WHGE &7 oIHiE W umen 3
TR & 999 § quag s Afufry § | yeas
27

Explain in detail the provisions regarding Amalgamation and

reconstruction of companies under companies Act. 15

TR we osfufem § s % wwiewm eiR
AR | Heuq wEuE w1 fawwgEw @viE - sl
Who is official Liquidator? What are his’her powers and duties?

15

U9y G THOF ®E B 27 TF IR 9N
TOE % AFR o wHe w-w €7

26037/K/1502/9,750 3
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CBCM/M-22 26038

COMPUTERIZED ACCOUNTING SYSTEM
Paper-BC-405

Time Allowed : 3 Hours] [Maximum Marks : 60

Note : Attempt five questions in all, Question No. 1 is
compulsory. Attempt any four questions, out of
remaining eight questions,

T U WA F I ) T g | e
B WY 9 W ¥ B R uR W w warg
Eairie
Compulsory Question ( 21fart 99 )
I. Answer all the following : 3x4=20
frafafem =t =1 s <.

(a) Lxplain the components of Tally. ERP9 Window.
Tally.CRPY fa21 & wesi =

(b) What are Trading and Profit and Loss Groups in
Tallv. ERPO 2

Tally.ERPY # =imm "siv wmw o a1fr v == &7
(¢) What is Tally Vault Password ©
Erailie o (Tally Vault) 9mag =1 2m@ar &7
(d) What are steps to record rejection out in Tally. ERPY ?
lally.ERPY o siefifa =1 im0 ¢ faa
Fem F?
26038/K/2588/8,950/T P.T. O,



(e) Explain features of Tally.ERP9 Payroll.

Tally ERP9 W& =wt favmmet =7 =amem sife)
Write the steps to Install Tally. ERP9. Activate Tally.ERP9,
License and Configure existing license. 10

Tally. ERP9 #1 weiftd ¢, Tallv.ERP9 & WiFg F,
TFER R UNE OREE W foww w9 % = @
fafea

What do you mean by a Group in Tally.ERP9 ?
Explain varigus ’re-defined Groups and Sub-Groups in
Tally.ERP9. ' 10
Tally. ERP9 ¥ ®Hg ¥ 379 F THIM 7 Tally.ERP9 H
faf= qe-vfenfom w98l ok sv-wqel =1 =men #ifw
What do you mean by Voucher ? Explain various categories
of Vouchers available in Tally. ERP9. 10

AER H A9 F WA 87 Tally.ERPY § e fafa=
gfml & TSR w e wian

What is the purpose of Budget in a Company ? Write the
steps to activate the Budgets features. 10
TF ®T W G H RYF F 27 aoR gEmed @
i w@ ® W fafa

What do you mean by Stock Groups ? Write the steps to
create and alter a Stock Group. 10
Cd g ¥ ¥ F OWEI ¢ Ve 9EE @ iR
T & A ol w1 fafEu

Explain Computerized tax liability calculation. What are
the steps to Computer tax liability in Tally.ERP9 ? 10

26038/K/2588/8,950/T 2

ﬂﬁ_ﬁmﬂ T IAA TOAT I A FHIWU Tally ERPY

A

H wYR T A & AU F w59 36w Mo
Write the steps to activate Purchase order Processing. 10

#9 ARY TSR & AfEd @ $ ww fHfEm

Define vquo.:. Explain the various steps of Payroll
Accounting System in Tally. ERP9. 10

WA ® IRafe FfEw Tally. ERPO ¥ Wa sepsiE
foen & fafes <o =1 =men st

26038/K/2588/8,950/T 3
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CBCM/M-22 26039

ADVERTISING
Paper-BC-406 Option—(i)

Time Allowed : 3 Hours| [Maximum Marks : 80

Note ;

Attempt five questions in all. Question No. 1 is
compulsory.

T U WA F IR G we wen 1 wfe
2

Compulsory Question ( 39l W)

1. Write short notes on the following : Sx4=2()

Frerffan w wiam o feorford .

(1)

(if)

(11)

(iv)

)

Difference between Advertising and Publicity,
fa™ $r wer ® 99 s

Difference between Emotional Appeal and Rational
Appeal.

WETEF A SR qRET s # @ sia
Objective and Task method of Advertising Budget.
o a5z = sew aw e ueh

Green Advertising,

w1 H famrE)

Concurrent  Tests  for Measuring >a<m&mms_m

effectiveness.

gﬂmﬂm&%ﬂgﬂ%@uﬁﬁ%ﬂmﬂ_

26039/K/1503/7,000/T P.T. O.



What do you mean by Advertising ? Explain main functions
of Advertising with suitable examples, 15

9 9 o oW € faew # ger el W
SUIH IR Wiew wHIU)

What do you mean by Advertising Process ? Discuss the
vartous steps involved in the Advertising Process. 15

fomma wfem = w0 o e §2 faE whEa ©
e fafs i w5 == Fifg

What is e-advertising ? Discuss various forms of
c-advertising used by Advertisers ? Give suitable
examples. 15

T @ 2 famrmemet o s fRr we a

m-wﬁﬂﬂ,mﬁﬂﬁ&ﬂﬂ%ﬂmﬁﬁ%ﬁ

B

What do you mean by DAGMAR approach ? Discuss
its importance and limitations in setting Advertising
objectives, 15

DAGMAR 3fteshon & 39 = wwvert &7 faem-famst oo
fomm wevel ). fuffm o F T mee siv )

What" do you mean by Media Planning and
Scheduling ? Discuss various Media Scheduling strategies
with examples. 15
Hifew e wd FuRo o s g 2 fafis
e wa-frufor wrifel #t sEel wRE e
HIfT|

26039/K/1503/7,000/T 2

What do you mean by Advertising Agency ? Explain
the role and main functions of Advertising Agencies in
India. 15

faarm wsidt ¥ s F g9 27 vRa § fawmed o
w1 qEE SR FE wE T wEwen st

What 1s Consumer Behaviour ? How does an Advertisement
influence Consumer behaviour ? 15

UM HFER F Y U 99 I SRR &
9 U9fae @ 22

What do you mean by measuring Advertising
Effectiveness ? Critically examine various methods of
Advertising Effectiveness. 15

foame gweRfiear = 99 ¥ o9 w=m OmEe &7 famrd
yWERier w1 fafg= fafel @ goeieEees T
EalE

26039/K/1503/7,000/T 3
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CBCM/M-22 26040

ENTREPRENEURSHIP DEVELOPMENT
Paper—BC-406 (i1)

Time Allowed : 3 Hours] [Maximum Marks : 80
Note : Attempt five questions in all. Question No. 1 is
compulsory.
fegl orer wvdl & S Gy g g'm 1 sfen
2
Compulsory Question ( 3TF=ET™ Wy )
1. Explain the following : 4x5=20

Frefefes =t =mem wifsm
(a) . Drone entrepreneur.
FIRIR 3T .

{(b) Explain the psychological approach of mzqm?.mzaﬁmiw.
Taffa & THAeRe gfew W 9eeEy)

{(¢) Write the components of market pianning.
IeR TaeH % ues fofauy

(d) Cash credit.
The Wi

(e) How is Break even point helpful in profit planning o.%. a

project?

26040/K/1504/2,800 P.T. O.



&@ﬁﬂﬂﬁ%ﬂmgﬁéﬂﬁg%
e 27

Who is an entrepreneur? Explain the characteristics of a
successtul entrepreneur, 15

ﬁ&%wwﬂﬁaﬂ@&ﬂwﬂﬂﬁﬂﬁ%_

sﬁ\rmw is project report? Explain the main contents of a project
report. Give a specimen of project report. 15

iﬁ?ﬁﬁwwiﬂgﬁmﬁﬂm@ﬁi
ﬁﬁmﬂﬂqﬂﬁ%ﬁﬁﬁﬁgm

Explain the various stages of a life cycle of a business. 15

mﬂﬁmﬁﬂ%%ﬂmﬂﬂ,@?ﬂﬂiﬂﬂﬁ
A Lo

What are the reasons behind the failure of a new business, 15
T ZTEd F1 favaa & 9@ T wmro 2

What is demand forecasting? Explain the uncertainties involved in it
Discuss the various methods used for demand forecasting. 15

W T F 22 v Wi affeagaet @ oan o
TR T @i % fag swim fee o 9 fafis
TR F FEmE

Discuss in brief the various short term and long term sources
of funds for an entrepreneur, 15

ST & fu wm ow fafis AUFITAF 3N Telpfors

N

%%%nﬁ%@%.

26040/K/1504/2,800 2

8.

Explain the various aspects related to Government support for
the promotion of entrepreneurs. 15

ST F weE 3 R fAu TR ® wmdt § et
faf= w=qst =t =men wifm

Write notes on the following : 15
fofafeg w feoaforgt ﬁﬂw@d :
{a) Startup India
e gfem
(b) Skill India
farer dfean

26040/K/1504/2,800 3



Roll Now o Total Pages : 5

CBCM/M-22 26052
PROGRAMMING IN JAVA
Paper-BC (Voc)-4035
Time Allowed 3 Hours] | Maximum Marks : 80

Note @ Atiempt five guestions in all, selecting four questions
from Unit-11. Question No. 1 is compulsory.

EEo § WW W W O FW g, EmA U
g % Iw G g wen 1 s
Compulsory Question ( 3tfEmd 9w )

1. Attemipt the following questions in brief : 3»4=20

T F WY HO§AE HIST

(1) State anv four features of Java. ‘
Jova &1 FE =R favroame =aEu) -

(b} How ie add class or interface to a package?
SES O AR A GORA 9 WE?

(¢1 W hat are the responsibilities of Event listener. Explain
them in brict.

wz S F1 TR e € IR WA W HEEET
(dy Deline -following terms :
(i)  Method overriding.

e AEis S|

26032/I2807/800/7 P.T. O.



(a)

(b)

(a)

(1)) Wrapper classes.
ST )
UNIT-II (z&rd_qp )

Describe various access modifiers available in Java,
How access Modifiers effeet the VISibility of a member
in different access locations, 74

Fémﬁﬂﬂwﬂﬂmﬁﬁﬂ@ﬁﬂﬂmﬂ
ﬂ?ﬂmﬁﬁﬂaﬁ@?ﬂmﬁﬁ%nﬁg
F TVEA w5 Tfea wE 2
Explain following terms with example - o
(i) Super Keyword.

T Fiae]
(11} Finalize() method

Finalize() fafiy,

Nz

Create a class with one integer instance variable,

Initialize the variable using : 74

ﬁm&ﬂﬁﬂ?ﬂ%.ﬂﬁﬁﬂﬂ%ﬂ
F ST wE gy s
(1) Default constructor.

(1) Parameterized constructor.

| 26052/K/2807/800,/ 5

(b) Which is the alternative approach to implement the

(a)

(b)

(a)

multiple inheritance in Java. Explain it by giving
Suitable example. 7V

Java 5 wedtrs sefin o A FH F s
TR &7 7 = REEAE S B c o o Je——
FHifau;

Define string classes in Java. Also explain these
classes with examples, 5
lava /&7 3omdm = gftsfo =ifa Sl
F1 IAETO gl BSEEs e _

What are the primitive and non-primitive Data types
in Java, Explain them with example. Also define

Iype conversion. Why we use type conversion, What
is its need. Explain in brief .10
gm«.mm.mﬂmm%ﬁ%@mwﬂ%ﬁq%
Tl R ey HET wmEEy wvia TR )
W afysrfivg 1 T ¥ER wimm B I gy
FA 2 TWF smavae T F ey 5 @Ry
Differentiate class print(), printin() and printf()
methods with example. 7Y

IR F omqre qyf iy print(). println() and printf()

(b) Explain in detail why Java 1S called machine

independent language, 7%

,Ez.mﬂﬁiﬂmwﬁm&.ﬂﬁﬁﬂwyﬂﬂn
H R

chmm\x\umcu\wcc\ﬂ 3 s P.T.O.

"



6.

7.

w..

Lxplain following GUI comporents by giving suitable
=1

x

(S
th

cxample

| GUI el &1 s99 Sem =57 g

(1) JCombobox. - (by  JTextArea.
BEat=icicaal IR

(c) JIPanel.
BRI

(2} Write a program in Java to design a GUI based
caleulator application which performs addition.
subtraction. multinfication and division operations
on integers. 10
U WEFE A Fermerst 1
A F AU Java ¥ uw wmm fafer oo quTishi
W A, "ed, T ST 9 HEeE e w

(b} Describe the stepwise procedure of the creation and

A

manipulation of ditferent menus in Java.
lava ¥ fafv= O F91 3R 399 &w w9 3
1\( .
TUEE WHEAT FogUE Hifew
Discuss some general rules for using lavout managers.
Describe the various layout managers available in AW
. 13

WOAAl FAAT TEEgd W oIwersy  fAfge @
THAE F GUE RIS : :

26032/K2°07/800/T 4

A

9.

Write short notes on the following
ffafag w g fewfar farET
(a) Graphics contexts and graphics objects.

fegm Wed WR TR SR

(b How to draw square and ovais in Jlava.

Iy H TEET AR AEA HE g OF
(¢) Graphics and java 2D.

wfrr @R S 280

26052/K/2807.800/T 5
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CBCM/M-22 26058

ADVERTISING OPERATIONS
Paper-BC(Voc)-405

Time Allowed : 3 Hours] [Maximum Marks : 80
Note : Attempt five questions in all. Question No. 1 is

compulsory.

Rl e Wl ® s G v dem 1 st

2l

Compulsory Question ( 31f7amd wo)

. Answer the following short questions 3x4=2()

frefafes @aada gof & sm dfsm
(a) Media buying ad-agency.

Hifem ww fomd e
(b) Discuss the need for regulating advertising.

foi =1 fAfafm #3 # aEvass W w=
e

(¢) Define consumer jury method for measuring advertising
ctlectiveness.
farm wqEefem w5 W % few swhEm S
usfd 1 aftenfeg wifsg

(d) Write a short note on self regulation for ethical advertising.
ifaw faa ® fon @ fafmer W owe s
A=y ArET|

26058/K/1507/100 P. T. O.



Lh

(e) Define commission system of remunerating ad-agency.

Eﬂﬂ,ﬂ@ﬂ%ﬂﬂﬂﬁﬁﬁ%iﬂ
TR e

How can an advertising manager evaluate the effectiveness of
an advertisement? Explain in detail. 15

ﬁ%ﬁﬁ@%m&ﬁﬂﬁ%ﬁ
m@ﬂ%@ﬁgwwwﬁm@ﬂ@ﬁg_

Why do clients leave ad-agency? Suggcst some ways to
improve client agencey relationship. 15

e SR TSE A wem ¥ mew wie iy T
& U %3 3 gum

What do you mean by ad-agency? What factors would vou
keep in mind while selecting an ad-agency? 15
o oS 9 om w wmes foramm-Tsiet &1
ﬂaﬁﬂ%%%ﬁﬁmn@\
Discuss the relationship between advertising and ethics. Why
It is necessary to observe ethics in advertising”? 13
RIS I e i S ! fasmE
FOIET W OWeR we oW smmvaw &

Define advertising department. Explain the organizational

structure of advertising department in detail. '3

T faum & gfiios FITT A faam w5

FISHARHF: W= w1 fem THEE

Write a detailed note on advertising standards council of Indja,
15

iﬁgﬂﬁjﬂaﬁm#gﬁ

26058/K/1507/100 2

9.

Detine advertising etfectiveness. Discuss its umportance. What

are the difticulties in the evaluation of ad-cffectiveness? 15

o gavieml F ufeafed i s Tee @
=l B T wsmeefem & goiea § @ st
&7

Discuss the different types of advertising agencies. Explain the

role of advertising agencies for ¢lients. 15

fafe= wer 1 e 1w == wia mEe
F T fomme weited # v w5 s st

26058/K/1507/100 3



Roll No. oo Total Pages : 3
| CBCM/M-22 26059

PERSONAL SELLING AND SALESMANSHIP-II
Paper-BC (Voc)-406
Time Allowed : 3 Hours] [Maximum Marks : 80

Nete : Attempt five questions in all. Question No. 1 is
compulsory. Attempt four questions, out of remaining
eight questions.

T W U ® 3w A g T 1
Fhar 21 W ame W ¥ ww wed w oy
Hifagy
Compulsory Question ( 1farsg W9T)
. Write short notes on the following : 5x4=20 .
Frafafer w o dfrg ot ferfaa;
(a) Kinds of Consumer services,
I T ® wEw|
(b) Benefits of Sales manual.
fagl foatform & =
{c) -Belling as a career,
fowa % 99 # wy ¥
(d) Order desk.
Y T

26059/K/2830/100 P.T.O.



(e} Distribution Network.

faqmm  mrey)

Define the qualitics of a successful sales person with reference
Lo consumer service, ) 15

~

.ﬁﬁﬁﬁ@%&%ﬁﬂa@ﬁﬁﬂmﬂﬁm&ﬂ

T3 FHifam
What is the maovm of m.m_::m as a Profession? Explain. 15
ﬂ@%ﬁamwﬁﬁﬂaﬁﬁwwﬂﬂﬂ%h

Explain in detail various techniques used to improve
salesmanship. 15

forawan = wvem § g = F fow v @t 9w
A s TR wm faem w g T

What do vou mean by Cash Memo” What is its importance
in selling? 15
%ﬂﬁ@%ﬁﬁﬁﬁﬁﬁwwmﬁm%ﬂﬁq
T 87

What is sales report? What are its contents? Also explain the
benefits of sales report? 15

mﬁﬁm@ﬂqﬁ?ﬁwwwﬁ%@?ﬂjﬁ
© Tk fra? = syhf F st avh Fifay

What are the chailenges of Personal setling in Modern
Marketing? 15

%mﬂ@%mﬂgwﬁﬂﬂﬁm% T
27

26059/K/2830/100 2

“Periodical reports are an important tool in planning Sales.™
Lxplain this statement with merits and demerits of periodical
reports. 15

gﬁﬂﬁiﬁ%ﬁﬁﬂ@%w
T FU # A #ifo T sEfE ol % ooy
AN wm GvR Fifem

What are the duties and responsibilities of a Salesman? 15

Ur fawgwat F wds N foeerfen e &

26039/K/2830/100 3
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cCBCQ/M-22 26060
MANAGEMENT ACCOUNTING
BC-601

Time : Three Hours) [Maximum Marks : 80

Note o Auvmpt Five questions in all. Question No. 1 is
Compuisorn.
T G Y ® IW AT | wed Wew 1 siard
T
Compulsory Question ( 31aTd yg3)

1. (a) Distinguish between Management Accounting and
Cost Accounting. )
FITS |

(b)  Explamn the importance of Financial Statement for
various users.
fafv= TR = fom faam faam £ 9evd
Ea it e

‘ot Discuss the information need w prepare Cash Flow
Statement.
TR WA A §Am w F fom wEvae weEeE
T ogat FwiEw |

11 3) L6060 (TR) P.T.O.




L-260060 (TR)

{di Outline the procedury for profit determination uedor

(e} Discuss the flactors that should vo considered in
developing a Sale Budget

-~ ~

IR EFANC EEAREE AL b

: 3x4=26

Define Management Accounting. Discuss its nature and

Importance. 15

TENH wEET 5 qiaiag s

41

! .IMHW_ m»%;.)m, wu_._A He
9 A

What do sou understand by the term “Accounting

Report™ 7 Discuss the essential

report for management.,

‘

1

Gtel "WI® W WY T OGEE F o7 WEaT 3
U =L TR F HAEvEE M

What js meant by Analvsis of Financial Soooements
explain the various techniques of anaivsis of Finuncial

5
Statement. 15

T

T oF g, S T LT T L em T
07 <R 1 IR 30 "R T Taaig O

+ favermn F7 fafes a1

(o0

Fhe foilowing is the income statement of Kapoor & Sons

- for the vear eading 31st March, 2021 - 15

Income Statement

(For the year ended st March, 2021)

Pavticulurs Amount  Particulars Amount
Te Opening inventory By Sales 3.00,600

To Purchase

oo
-
=
o)

By Closing Inventory  60.000)

T Grois Frof 0 F3.000
3.60.000 360,000
i Administrative
TEPENnses 60.000 By Gross Profit b/d | 30,000
To Finance Expenses By Non-operating Incomes -
Interost 500 [nterest 2,300
Discoum 1,500 Dividends 2,300
Bad debis ZHH By Profit on Sale of
To Selling and Distribution securities 1.600
Expenses §.000
Te Non-aperating Exp. 1.000
e NG Profit 63.000
1.36.000 1,36,000
1244 1226060 (TR) 3 PT.0.



You arc required to calculate the following 20 1.000
(1) Gross Profit Ratio & Y 63.000
(i) Net Profit Ratio 136,000 136,000
(i} Operating Ratio o faefefas = v w9 o nw.l
(iv) Net Operating Ratio (iy HF=aA o9 FIH
(v)  LExpenscs Ratio. (1) Y& ¥ HI9A
31 A, 2021 w1 FHETG BW AR g w faw wR Uz 99 (iify 9" =
Afree @1 s e frefatas © o ov) #3
s o (v) T S
(31 W=, 2021 & "o g @ fAm) 6. Irom ihe data given below of ABC Ltd. prepare a Fund
Flow Statement and Schedule of Working Capital
fererm T faar i Change : 15
AR T 45,000 farY 3.09.000 I. Equity and Liabilities 2018 (Rs.) 2019 (Rs)
L 1.80.000 @i Tefem 60.00v Shareholder’s funds :
oA 2,000 _ Share Capital 1.00.000 1.25.000
REES 3,000 Reserves & Surplus :
TOEE ET @ T 1,30,000 General Reserve 25,000 30.000
3.60.000 360,000 Statement of P&L-Surplus  15.250 15.300
60,000 TEA TH AWM T 1.20.000 Non-current Liabilities :
fom B Ui A Bank Loan 35,000 —~
=T 500 =T L2500 Current Liabilities :
T2 1.500 Y 2.500) Trade Pavables 75.000 67,600
weT Em 2000 wEERE w1 e W Provision for Tax 15.000 17,500
gy wE T s 8000 =T P 066 Total 2,65,250 w.mng
1-26060 (TR) 4 (5-12/5) L-26060 (TR) 5 P.T.O.



11, Assets

Noun-current Assets o

Land und Buildings
vt and Muchisary
Goodwill

Current Assets @

{nventeries

Provision tor Jovhul Job
Cash and Cash Equivalent
in hand Y

Cash at bank

Total

Additional {nformation :

(1) Dividend for Rs.
2018-19.

iy Provision for Income Tax o

2018-19 was Rs. 16500

(i11) Depreciation churged on 7
AL, faaes & b4 frm T FwEl |

1.-26060 (TR) 6

G0N0

Rd 50

2.500

2,55.400

11000 s paid during the vear
ade during the sear
~lant was R, 7.000.

d“ww Nfﬂ AT

EAGLE

2018 (%)

1.00.000

A RS 25,000
TIY-FNT  FHEY F] 15230

T-NET oA
B 33000

75.000

T OF] YELTE -
IR 15.000

[

2019 (%)

1.25.000

30,000
15.500

67.60U

17,500

hed
Nu@muwmc

2,55,400

qw oy o= 1.00,000

Wy Pm owrE 5
LA S SNy 73,000
u_fwiwm

: 30,000

45000

HETy mun o &
T BT ﬁﬂwﬂ TEEE (5.000)

240 L2260064 ( TR) ?

PO



(1vy Break-even Polimnt

WhE M T % HEAET w1 Profit or Loss on the Saie of Rs. 1,530,000

g 4 Heg 250 300 (vid Profit on the Sale of . 1.50.000

FF H IFE - 4.000 (vii) Marein of*Safety for 218 and uo,._ 9.
Eag 2,65,250 2,55,400 ' C

) 2018 (Rs) 2019 (Rs.)
fat ™ R o | . 1 1500 190,625
(i) @9 2018-19 & EWA 11,000 T9F T T HI ‘ . 111,250
110500 N

e ' .‘.—l.u
e feeam T owr F A
(i) @9 2018-19 & <0 T T AEEL w1 WEAHM
16,500 F9H g1 |

(i) H49 W AmE T g™ 7,000 T o7 | 1

7. What 1s Cash Flow Statement 7 Expiain in detail the J
== = Tqul T Y T O®

calculation of Cash Flow from ditferent activities (AS-3).

3 iy s T oA faEn A

, g 7 faf T ) s e oamg @ fA s R W
nnﬂ, - @ . ,.‘m.q \ ﬂ%%ﬂ dﬂgﬁ.ﬂ e 0 v Go Sran Company Limited operates ond svstem of
emmm T | o= e Bydeet, With the aid of the following
o e o YA TG s o 15 e tions, vou are required to prepare Flexible Budget
2018 2019 N 00, and 1009 level of activity showing the
a2t would result at three levels 15
o e e ‘_ - :f resent siale of £.00.000 units at Rs. 10 cach 1s
o e 321230 _. the :_,.:.Em_ el of 80%. 1t the output is increascd
- price will be reduced by 2.5%
ar 0 Profe-Volume Ratio and if the output reached U0 the original sellimg

(D) Fired O price wil e reduced by 374 in order 10 reach @
11] aed Cuost i

wider ket

reiaad cost tor 2018 und 2019 SO
42 T LS26060 (TR Y P10




(i The prime cost per unit 1s Rs. 5 made up of Direct (1)

Material Rs. 3,50, Direct Labor Rs. .25 and Direct

Lxpense Rs. (.25, Tf the output reaches 90% level

of activity and above, a saving of 3%, cun be effected AT AT I 100% }
# fmu 5= fa3 5= 5 FE

E
3
%

in the purchase price of the raw matenals
. . .. . TS |
(i1} Variable overheads-salesmen’s commussicn will be i i ) .
o . (iy wfF =12 B = 5 7Ed. Fogd WEU 350 5,
5% of the saie value. . o
. . . . . T SE 08 TEEOFR Ty wEA 025 ¥ A
(iv)  Semi-variable overheads at normal level of activity
are : Supervision Rs. §0.000; Power Rs. 70.000:

[Heat & Light Rs, 40.000: Maintenance Rs, 30.000;

Salesmen Iixpenses Re 60.000: indirect Labour Rs.

(iil) F1 AR FE e w
1.00.000: Transport Costs Rs. 2.00.600. These are
e fereace by 204 T the ¢ . 3 . T, i
expected to inerease by 3% if the output reach 2075 (i) = R B R e e

A C o . o, 0 ranckes the a .. ) - . . - -
level and by a further 10% i it reaches the 100% ¥ . =T 80000 TIH: WAL 70,000 W B

level, = TEE 40000 wUE; TE@EE 50000 FA:

(v)  Fixed overheads are : Rent and Rates Rs. 1.60.000:

h= A 60,000 TUE: O SEEA 49 1,00.000

Depreciation Rs. 4.00.000: Advertisement  Rs. A 200 000

3.00.000: Administration Rs.  7.50.000: Sales
Departimient Fs. 2.00.000: General Rs. 31000,
Tezig =99 fofges faimfms a9sm =7 2T o

T g9 F UR T W OFE R T OATTED oY

vy Fem owter . TR #WOET 100000 IR OE:

o

JoratTE =a 750000 T TgED fEsma 2 00000

RES UL LU T, AR SO000 FF

>

T2 AN FE R SETEEAl § THEE wimmeEEy

[.-26060 (TR) 10 (5-12/8) L-268260 (TR) i1 9,200



| 2007 ) AT N Tutal Pages = 43

CBCQ/M-22 26002
HUMAN RESOURCE MANAGEMLENT
BC-603

Time : Three Hours} [Maxinmim Marks : 80

Note : . No. 1 s compulsory, Attemipt any fowr guestions

from the remaining cight questions.

A A 1 @ B v o&e uwEl 0o e
= owel & 3w difa

I. (1) Differentiate between Human resource munagement
and Human rescurce development.
G HEA TS Ud HMA WEPE FEEE A
(1Y Write a short note on e-Recruitment.
- w " ol fafaw
(iii)  Explain the clenwents of Promotion.
TR & don F Iecd hIiau |
(iv) Differentiate between training and development.
Ffoam wE fawE 7 o®wT FFw |
(v)  Explain the concept of job spectfication.
FrH ETeS &7 sEYRen #1 FviH wIFT

311105226062 P10,



wn

What is human resource management ? Explain its
importance and scope.

T GHEA YA T T 7 THE Hew Ud wE-aF F
Fu wifau |

What do you mean by job-analysis ? Explain its methods.

o . . -~

FE-TAem [ AT @ W 7 2 zeal Aty g
Fifau |

IExplain the internal sources of recruitment and their

merits.

Rniicn

> |\@ F gvE FIAT 1 e o +f =y |

What do you mean by Placement ? Explain its objectives.

I H AT TR OWEEW F 7 T Sevdl &1 o
=hifaT |

What is the significance of training ? Explain various
methods of training,

WH FwoF TI ¥ 0 uimem w1 fafesy faRpi o
FUH ity |

What is transfer ? Explain causes and types of transfer.

&S

TGO 41 € 7 WA@Y & FE0 U WHW AR

L-26062 2 )

9.

2

What is performance appraisal 7 State its sienificance.

UNET MedlmA ¥R ? Tl W TR T ¢

What do you mean by human resource planning ? Describe

its importance.

WHF wEEs FOsH 9 3Ty

(3-11/1DL-260€2 3 S 9,200
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CBCQ/M-22 26063
INCOME TAX-II
BC-604
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
Q. No. 1'is of 20 marks and rest questions are of
15 marks each.
wA Ut W I I | WA w1 Had
5| R WEm 1.20 S w1 § W UM TAE W
15 @i w1 OE
Compulsery Question { FfFar wot )

1. Explain the following in brief : 5x4=20
(a) Central Board of Direct Taxes
(by Compuisory Return of Income
(¢)  Best Judgement Assessment
{(d) Permancnt Account Number
(¢)  Partnership Firm ws 184, ~
& Halg § gHARL
(31) F= YT FLOAE
(4)
(H)

{S-12I5L-26063 P.EO.



(T) wurll @ "5y
(3) ®F 184 F FEF FTEER TH

2. Explain in detail the procedure for calculation of Net Tax
Liability of Individuals. 15
WEd F 9r ¥ fgwn § oaanu |

3. What do you understand by Reassessment of lncome ? In
what circumstances is it done 2 N
AM ® TR T 99 e s ¥ 7 9wt Tt
R i

4. Discuss in detail provisions of Income. Tax Act. 1961
regarding penalties to be imposed in case of under
reporting of income and misreporting of income. 15
9 F FH T R w9 e foifén % moe
G AH G 32 F Hau H ammet fUtmm. 1961 F
TEASE ® AR |® e wife |

5. What are the provisions of Income Tax Act. 1961 in
respect of prosecution in the following cases 7 15
{a) Tailure to deduct tax at source
(b)  Willful attempt of tax evasion.
frefafas wmel & sfiges & wag § ama efaftem,
1961 & T WAAE ¥ ?

(#) &8 W F FoA wE F fHFEA
(aN) FT AA W WA
L-26063 2

Deseribe in detail the procedure for obtaining refund of
tax already paid. 15
BRI UG el e Tl AR ek B i e e G i o

EAf T il B Lie A Tic ol

I'rom the foliowing particulars of Shri Vikas Malhotra

calculate his Gross Tax Dm@::m for the Assessment Year

2021-2022 18

Rs.
Salarv 1.99.000
Business Income 4,70,000
Rovalty on Books for Colleges 30.000
Rent from House Property 20,000
Dividend Income (Gross) - 15,200
Interest on Government Securities 8.800
Income of a Minor Son 15,000
Long-term Capital Gains 30.000
Contribution to Public Provident Fund 30.000
Life Insurance Premium Paid (Self Policy) 10.000

Life Insurance Premium Paid (Mother's Policy) 10.000
Health Insurance Premium Paid by Cheque 8.000

Donation to National Defence Fund by Cheque 5,000

(S-12/16).-26063 3 P.T.0.



G faFm T w efeiaa faon 9 s-faako 94
2021-2022 % fou == 90 wwaE # 0 HIAT

%,
1,99.000
4.70.,000

TEH W AeH 30.000
20.000
15.200
8.800
15,000

30.000
ALt 30.000

10,000

| ) 10,000
Tawer g WiREe # gTE 9% g0 fwar 8.000

W e &M O OSF g g 5,000

8. From the following particulars of Shri Ashok Kumar
compute the Total Income of the Firm and Tax Pavable
by it for the Assessment Year 2021-2022 I5

Rs.

Profit from Industrial Underiaking 40,000

Profit from the Business of Poultry Breeding 20,000

short-term Carital Gains 20.000
L-26063 4

Y,

i L1l 40000
Lone-teim Capital Grams
: b 6000
Interest from e

on aceount of

Loss from House e

.
1

e Eor the
Ipterest on o toan Tasen for W

o
s
]
%
)
<
@]
-
]
-~
-
—t
j—
Z
=
=
i
L]

Property.

Ton wroved Charltable Institation
Dopation o Aorroved Charitable

13,000
by Chegue

1 e s ow fEied e WOEL EERT A

2 ann F e wE D ERS S GR R BN EA
- T RN ET
o,
e smgH B AT A0000
wem F EEE H O TE 20,000
ST YEm T 20.000
.\.114]5&‘ j,rujﬂ ik , 40.000
|1! _..,L |1¥H. ERUALY,
lu e 5 Swmow ow fAm TOmT W
ﬂJ = += & T owE R =3 10.000 T
E B TE B m] sEAd ED A 15.000

Fxplain in detail the steps 10 he tollowed in the process
i 1 % H o

h

X 1
o e-Filine of eturm,

T TR BICER

ey God w7 T & RS

5w e w EaEd |

s 9,100
1.-26063
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CcBCQ/J-22 _ 26064
BUSINESS ENVIRONMENT
BC-605

Time : Three Hours| [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

=AUt weAl S Afe | WA den 1 ehae

1. (i) Discuss the nature of business environment,
FRANT HEE & W W OFE salay |
(it)  Name tour scctors under Make in India.
Tar g4 e ¥ g \w < ow 9| fetwm oo

(ii1) Differentiate between FDI and PL
THEA AR, AT Usnd F odm ddr -

Gv) Is globalisation need of the duy 7
(v)  Why was FERA replaced by TEMA 2 Sx4=20
T OH] SR e A w= oW @l 7
2. “To know the opportunities and threats there is need to
scan the epvironment.” Explain the statement. 15
“ o el AN ) W ® AU TEiE # wA wE

ED

(4 1202) L-26064(TR) P.T.0.



3. Why to divest the PSUs 7 Ts it the right approach to
gencrate the revenue and financing the fiscal deficit 7 15
TEE TTR HE AR TSN A # AT % fen

4. Discuss different types of economic system prevailing in
different countries with suitable examples. 15
fafa=1 <wi o wafaa fafas warw 1 ofds s &1

N

. Why did economic planning fail in India ? It is require

in present scenario 7 Give arguments in support of vour

answer. i5
aRd H w9l faww o 2 owm adus

K . .

gy § g4 omEvaEal £ 7 W9 v o mmedy W
e St

6. Discuss different components of Menpetary Policv. Is

Monetary Policy achicving its objectives 7 15
Hifgs fifa % fafo= wemd =1 s #f=g | =0 o=

Hifa s TRl W) W ow W %7

7. What are the barriers in the way of foreign investment
in India 7 Suggest some measures W overceme (hese
barricrs. 15
g o Tl fme g el 9 oweed awd ¥ 0 o

TS F T BAR F fen

L-26064{FK) pi .

(35000 120064 =4 | m.,v J

8. UNNCs are boon or bane.” Comnent, 15

Vaguw wIMAl FEE F o sfewmy o fremvi

9. “loreign exchange market is working 24 howrs ina Jdin
Plucidate. Who are the major participants in fercign
exchange market 7 15

UF f " 24 92 oFm oW w7

ﬁqﬂ yE A d T TN g F )




Kol No. e e Totai ey v 03

CBCu/M- 22 26466
CCHEPOVATE GOVERNANCE

i27-000 {Ont. +

Vo imurn, M

cstions in alll O Neo 1 ds com

s Al eiher questions carry equie: arks

g Aifqe o wea

T ®e ol § ot g ol el A e

b
BE coad
e i loaa )
G A = = fu oFm v
1L
Py v ON1 and Corperate Governanee.
RIERS: O gni |
e

BTG



Ted

tn

i What do you ud

H F eI "1 Fq

~ a brief note on various commiitoes ned for the

P

purpose of implementing Corporate 0o

relevance of

Lo the

w_mario. What are the main

nance i lndm 1~

wieg o Y F WHITES -

s H TR 9T

T W TEE

MW are the functions of rmung agoiae © Comment o

~wabious role of rating agencics.

Fvnlain the concept of efites. Why ot

nueaded i business 7 Expldan the -

DLSINESS, i

TAFA F OSEMRI H] LE FRIAT
AT F OWEI@ [ GEA B 7 Al

1.-26006 2

N - .~ - . . - ‘
Ly Sy - i P
& TR T T HET

: T TN
o detailed pote on cormposion of Board iR
STV T A FR e o A 57

wd courin

m o developing amine this statemeny

contesy of Corpocatc Covepnes Prachices,

< omEmEhE wvy o wEE e

wrogEr E " vy lamT wo qive BTHOTTEE W

Pxplam I

Frme o

afivawed our O Cyovs o .
o L=
ﬂ.ﬂi mg wEE T ) FEA S

afr = @ wrT wn

K i



ROUNO, cecveererercernerenrons Total Pages : 03

CBCQ/J-22 26067
INDUSTRIAL LAWS
BC-606
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
T UT TN B IW AU | W wem 1 e
2
1. (i) Discuss the liabilities of Trade Union, 4
o9 WY % qlaw #= faasw @it
(i} What do you mean by lockout ? 4.
A ¥ ST e ¥ 2
(iii) Explain the significance of Factories Act, 1948. 4
FREM SfufEE, 1948 & wew ® gHuEy |
(iv) Write a short note on Retrenchment. 4

gt W wiw fromit fafew |

(v} Define Collective Bargaining. 4

e dRaeh W fenfim i |

(3-12/6) 1.-26067 P.T.O.



2,

Describe the term “Wages™ given under the Payment of
Wages Act. What does it include and exclude ? State the
provisions regarding the payment of wages. 15
T e At F & o e v W uim
A 1 oW € 9o wn whnf e 0
A PR ® Hew ¥ yEyEl @) 9any |

Discuss the provisions relating to the computation of
compensation payable to a workman under Workmen
Compensation Act, 1923. Can liability for compensation
be relinquished through mutual agreement ? 15
sgsfial aferqfd sfufem, 1923 % ol o afgs =
mﬂm@%jﬂ@ﬂﬂ,ﬁnﬂiﬁﬁﬂ% b
Aol T ® gR Gk @ e w1 aRem @ e
22

Describe the provisions relating to health and welfare of
workers under the Factories Act, 1948. 15

FEM sfutEm, 1948 & simia afvsl & w@eem w
FAO gadt yEuEl 1 avl st

Is strike a constitutional right ? Briefly explain. 15

F T T HAWE AER ¢ 2 WA § e wif

L-26067 2

. 6.

Explain clearly the objectives of Industrial Relations. (ive
constructive suggestions for the establishment of better
Industrial Relations in India. 15
SeifTR Wl F Red ® ww T A sy qw 8
=5 Sl Way e FT3 ¥y e e Afau
How is trade union recognised under the Trade | !nion
Act, 1926 ? What are the rights of a recognised Trade
Union ? I8
gfes ww sfafm, 1926 % efmf fem e or oo g

-~

T YR R SR E 7 U 9T W yn o R @

sfeFr ¥ 0
What is an Industrial Dispute 7 Who arc the various
authorities under the Industrial Dispute Act. 1947

Describe their duties and rights. 15

sieifrer frare = % 2 siife e sfufrm, 1047 @
sigrfa fafrs wived #R-9g € 2 399 w9 s
st =1 9vl7 =ifsm |

(3-12/7) 1,-26067 3 4540



ROIINO. wonivririrenriieannanns Total Pages : 03

BCQ/M-22 26078
SOCIAL NETWORKING AND DATA
ANALYTICS

BC(Voc)-605

Time : Three Hours] {Maximum Marks : 80

Note : Attempt Five questions in gll. Q. No. 1 is compulsory.
wHA U Y F v GNE | W e 1 eitEd
&
I. (a) Write features of Hadoop.
70 W fawwant fafEg |
(b) Write jfour Dbusiness applications of ‘social
networking.
HEr JAGT ® W s erwan i |
{c)  What arc four social aspects of social networking ?

N

TR AT F OWR wEiaw UEe] A ¥ 2

{(d)  Write three sct of activities involved in working
with big data.
97 T F WA wE HE W OwHa EEhe
{¢c)  Name four data structures in R. 20
R o =T 2y w5est & I Sifwy

(3-08/12)L-26078(TR) P.T.G.



2. Explain concept of social networking and evelution of

secial networking. 15

F1 AT FIAT |

3. Discuss privacy aspects of social networking and why it
i$ $0 1mportant 7 15
Tl = 7 2

4. Discuss social networking features of : 15
(a) Facebook
ib) Blogging
(c) Twitter.
T =1 wmee Jeafen fGeuaen w ==t Fifse .
(31) EE
(=) =Afm
(7)o

. Explain concept of messaging =ervices using social

'

networking. Take example and explain. 15

~ ~

dwer AT H T w4 g
u [l oo _ -~
El HAZATEY | Zalglv m__(ﬂ_f”_ W AT lerﬂlﬂ I

Tl w1 SR

6. Dxplain Big Data, its features and management of data. 15
fam g, e favmmed SN T ® wEuR # SuEm

I |

L-26078(TR) 2

7. Mention components and features of Hadoop for Big
Data. 15
T =m & fau vgU w dedl R fawmedl 1 seewm
] _
8. Explain predictive analysis, emphasize time series. 15
afger favemo &1 s witay, wme S W SR G |
9. Write short notes on any three of the following : 15
{a) Usc of Pvthon or R in social media
(b)Y Data warehousing
(c)  Concept of product promoticn in social media
(dy Clustering and its types.
afdfeas o 9 f&= @ 1 i
(o) T wfem H 9mes W R OEOWEN
(q) =TT FEERf
(%) T wifem § @A ¥ER A SFIERn
(3) R THE T |

SR LZ6078(TR) 3 800



mﬂﬁw@mﬂﬁﬂmﬂ@ﬂi@w@m"

(3) ¥9-2m9 {smA. Fotagt & 1w sk fawer
(F) L3RG FrtamT B v whad whey _
() SOMA. SR W e =y g |

9. State and explain subsystem of Finance Module and
Manufacturing Module of ERP. 15
LIRW. B wty Heyw AR Ipherafin Hiey @ wafien
F IR IH GUARY |

L-26079(TR) 4 800

Roll No. wuueeneeven Torai .

CBCQ/M-22 e
ENTERPRISE RESOURCE PIANN
BC(Voc)-606

Time : Three Hours] [Maximum Marks : .

Note : Attempt Five questions in all, selecting one question
from each Unit in addition to compulsory Q. No. 1. Ali
questions carry equal marks.
ﬂﬂﬂﬁdﬁgH%iﬂmﬂa@mﬂﬂ; Ea
T F G A U T F SR AR | g o
w HE owmm ¥ )

Compulsory Question ( 3tfrard gy )

1. (a) What are tangible and intangihle | .
TIRW. B W R agd e e b
(b) How is business integration achic ¢d b,
System ?
m.ﬁﬁ.aﬂgﬁaz@ﬂa%gﬂwﬁ
S g 2
(¢)  What are the common ERP myths ? Explain in
brief.
%wﬁﬂ&.ﬁmﬂﬁquﬂ%mmﬁmk
(2-12/12) L-26079%(TR) P.T.O.



Fteseribe business modeling process.
e oatEfe yfEm w1 aoi #if |
tey - kixplain the concept of SCM and its benefits.
5x4=20
THH. F sEuR ok TR e & e
Fifag |

Describe the vendor evaluation and inventory management
activity of ERP module. : 15
LA, HieE # b e ok g wE TRy
%1 9uiH wifTy |
it are the elements of CRM ? Explain each in brief.
~olain e-CRM. 15
ST T o E ) TS H WEW ¥ wamy |
LR, oS H o qdqrEu |
Write short notes on the following :
(a)  Business Process re-engineering
th)  Executive Information System. 15
frafafen w wfya fewfrat fafeg .
(31) fosm wiem f-IShifmafar
() FrEER goa gomed |
LOTACTR) 2

Why is the availability of timely, relevant and accurate
information necessary for business success ? Discuss with
examples, 15
AHE F WE ® AU w9 W, W SR gow
STER BT ST T SWEeE 8 7 S ufsd S+
wHifT |

(@ What is an enterprise ? What is the role of
enterprise ? Discuss with example. 7
TH ST TP ? O w ufe @ § 2 ST
wEm == T | .

(b) Discuss the roadmap for successful ERP

implementation. 8
THA LARY. wEerd ® fau dedy wows
Fifwg | )

What do you mean by MIS ? What are its objectives ?
Explain its advantages and disadvantages ? 15
TAITETE. ¥ o9 & T ¥ 0 THe vivw ¥ ¥ 0
T W9 SR T waET

Write short notes on the following :

(@) Pros and cons of inhouse ERP Implementation.
(b) Employee Resistance during ERP implementation.
(c) Impact of internet on ERP products’

(2-12/13) L-26079(TR) 3 P.T.O.



8. What are the major features of PowerPoint ? Explain
various tvpes of views and slides in PowerPoint. 14
THEEZ F] W =2 A qEEize 7 fofir=

TEV F 5 SN TR % ORERRY |

9. What is an operating system ? Explain working of an

uperating system and its architecture in detail. 14
TH# fen ¢ 7 sivifen fowen w1 sy

W ITF e 1 fawR 9 9umEn |

126080 (TR) 4 100

Roll No. e Total Pages : 04

CBCQ/M-22 26080
COMPUTER APPLICATIONS
BC(Voc)-603

Time : Three Hours] [Maximum Marks - 7(;

Note : Attempt Five questions in all. Q. No. [ is compulsory.
In addition 1o Q. No. 1 atempt four more questions.
All questions carry equal marks.
AU W F IW A oww dem | s
TR HEm 1% sfifm s oW owed w o
CUE LI S I o= SR
1. (a) Enlist the major characteristics of computer.
FOR F PE s w ogeEg s
(b)  State the configuration of a latest laptop.
UF FAH e ® faewrs # oamgn |
(¢)  How a PC is different from a laptop 2
UF GHl dwey | odw fasm o9
(d)  How u file can he saved in DOS
R W wEEA w1 o#W o e ow owww 8o

(¢)  What is the purpose of autocorrect option in MS-

Office ?
TLUR - ¥ @1 gur fagey 31 w2vn o
g 7

(5-21/6) 1.-26080 (TR) PT.0.
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(1 State major applications of Excel.
THE & W@ SETE 1 seong Hifemw |
(g} Lnlist the various types of operating systems.
fafa=t sww = gimfen g = etag Fifwe |
Tx2=14
Describe various classifications of computers along with
features of each tvpe of computer. 14
ﬂﬂﬁz%wﬁﬁﬂ@ﬂﬁ%%g%m@ﬂ
RO =7 = i

Differentiate between primary and secondary memory.

Explain various secondary storage devices along with

their $5_,r5a 14

Explain the following commands in DOS - 14
(1} Deltree

(ity  Dir

(iy - Disk Comp

(v)  Disk Cop

(vy MD

) Move

iviry Path,

[

%mﬂﬂ@ﬁmﬁw%ﬂ@ﬂﬂg

(i) <=h

(i) Tex

(iit) T =hy
(iv)y fe= =i
(v) TmEt

(vi) g

(vii) 99 |

What is mail-merge ? How can you perform mail-merge
in Word ? Explain using suitable example. 14
9A-TS w2 q AT #E # e § )
SRV KT [ETAA W T |

Explain the purpose along with working of the following
in Excel ; 14
(i)  Auto Format

(ii)  Goal Seek

(iii) Auto Correct

(1iv) Filter.
nﬁﬂ&jﬂ@m@mﬂﬂ%%ﬁﬁ-ﬁm%ﬁﬂﬂ@ﬂ

EUELEE

() A gew
(i} Ta drF
(iii) *&a: gur
{ivy Tweer

15-247) 1-26080 (TR) 3 P.T.O.
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CBCQ/M-22 26081
PROPERTY AND LIABILITY INSURANCE-II
BC(VOC)-605

Time : Three Hours] [Maximum Marks : 80

Note . Attempt Five questions in all. Q. No. 1 is compulsory.
Attempt any four questions out of the remaining eight
questions.
wA U WA FOIW AT |y wew 1 sfEd
WY e oy ¥ W fEE W oy % aw
g |

1. Explain the following short questions up to one page
(1)  Errors and omission insurance
(i) Marketing of Liability insurance
(iif) Functions of loss adjusters
(iv) Loss valuation
(v)  Explain any two types of Liability insurance policies
available in India. 5x4=20
fafafas o9 v 1w o9 9% =rem wifs .
(i) A R ogF A
(i) <=Maa @ = faom

(2-12/10)1-26081 P.T.O.



(i) #/IFam e 5 559

(Iv) THEH F1 gedied

(v) ﬂan%wﬂ%%ﬂﬁmﬂaﬂg a
TR Fifqg |

Explain insurance problems of Educational Institutions. 15

%ﬁﬂﬁlﬂ%ﬁﬁ&%ﬂ@% !

What do vou understand by Professional hability
insurance ?  Explain professional liability insurance
providers in India. 15
@ﬂﬁ@ﬂ%ﬂ@%ﬁﬂﬁmwwﬁﬁm@ﬂ
A I w=met s FiT

Explain the following :
a)  Professional package contracts

(b)  Accountants liability insurance. 8+7=15
frefafas #1 smem #ifag .

() R =9 ey

(F) erETTaFEes Tfge T

Explain the following : 8+7=15

{a)  Finance of Liability Insurance
{b)  Limits on amount of Insurance
frefafen w1 =rem #itm |

(31) wfae o =1 fayg

(F) sm o w o

L-26081 2

6.

Explain the procedure of adjustment of losscs and il
explain the respansibilities of adinsters i
TR & TEERH # WET H wwmen s o s

What do vou understand by insurance clam seftiemon)
Explain various documents required for insuronce o

[

settiement.

RIREUREEC LI I CRE s R R
F form smevas fafas zegst = =neEn s

Explain the requirement of the insured in e oy op
loss.

THEE #1 frafd F doeme 5 amvgeren FT =
FIT |

What do vou understand by statutory control over 1y
insurance in India ? Explain its main PTOVISION:, R
WG F A M W duwfie fEam 8 o s anss
wuﬁ%m@§¢iﬁ§ﬁﬁﬁ_

(2-12/11) L-2608] 3 Lo



(17 Why Floriculture Insurance is important ? 7.5
B W T ow A mewl 9 Roll No. c.coviiiiiiniiirisanen Total Pages : 04
i Ixplain IRDA Regulations. 2019, 7.5 CBCQ/M-22 26082
AT, EEH, 2019 F S ST AGRICULTURE AND RURAL INSURANCE

PPI BC (Voc.)-606

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory
which comprises of five short questions of 4 marks
each.

FA UG A ® IW A | W Hew 1 st
g ool woi® 4 3% ® U" @y wd €
1.  Write short notes on the following : 4x5=20

(a) Comprehensive Crop Insurance Policy

(b) Type of Poultry Insurance

(¢) Benefits of Micro Insurance

(d) Objectives of Self-help Group (SHG)

(¢) Conditions of Honey Bee Insurance.

frfafen w e feufiral fafew -

(31) =uEh TEa e uifas

(F) gl W F OFER

(¥) 959 &9 % &9

() @F Wl §9F (TEUESL) & I

(3) mywsdl &M & A |

| -26082 (TR) 4 100 (5-09/14)L-26082 (TR) P.T.O.



2.

What do you mean by Agriculture Insurance ? What is
the need of Agriculture Insurance ? Also explain the
problems faced by farmers for Crop Insurance along with
suggestions to overcome these problems. 15
FH S W a9 wm owmR € 7 ¥ 9w ow s
dFERA € 7 T owwemsl W ow e % g ®
E-HY wHA fiw % fou fremi # 9 s At
e H S T |
What do you mean by Risk Management ? What are the
different types of risk ? How these risks can be managed ?
15
SIfE™ yeud & 9 = yug € 2 fafae yER ® e
Fn € 7 W Sifed = owew 3 R oo @m0

What are the key features of Prime Minister Fasal Bima
Yojana, 2016 ? Also explain issues with implementation

of the scheme. 15
MR WA wHA W ASE, 2016 HT wgE fawmad @
&2 W @ A % e © wetie g W o e
HifT |

What do you mean by National Agriculture Insurance
Scheme and Modified National Agriculture Insurance

Scheme ? Explain their objectives and features in detail.
15

L-26082 (TR) 2

H@ﬂ. % A g SR Henhe ddm.,ﬂ % T e

¥ AT T oA E 7 TR oRvdl oiv Smwmsi s
foet @ gHEmET |

6. Write notes on the following : 7.5%2=18
(a) Crop Insurance underwriting
(b) Comparison between National Agriculture Insurance
Scheme and Weather Based Crop Insurance Scheme,
frfafes = fewforgt fafee .
(1) wEa dm ETHR
(@) TEA FfU S A oK ARm e e A
o & A ger
7. What is the procedure of settlement of claim under Crop
Insurance ? Explain in detail. 15
FEE W % sl 9w Fwem w9 oufem e E
faern & =ren it
8. (1)  What are the different methods of valuation of cattle
under Cattle Insurance Policy ? 7.5
el Wt dfedt @ den wERE ® qoaime =
fafy= o @ & 2
(i) Explain loss assessment, settlement of claim and
loss minimization under Cattle Insurance Policy.
7.5
el St el B ded gEEE #w aEer, o9
# frem ok IEOR W wW owW # emew
HIfT |
(5-09/15)L-26082 (TR) 3 .T.0.
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CcBCQ/J-22 240
MANAGEMENT OF SALESFORCE-II
BC-605
Time : Three Hours] [Maximum Marks : 80

Note : Q. No. 1 is compulsory. Attempt Four questions from

the remaining questions.

T gEN | Afed 2w e ¥ ¥ ww oy
FifST |

Compulsory Question ( 31famd wy=)

1. Explain the following in brief : Sx4:224:
(i)  Scope of Sales Planning
(ii) Role of Market Analysis in Sales
(iii) Steps in sales budget preparation
(iv) Uses of sales cost analysis
(v) Challenges in salesforce management.
frafafen =1 wira qui =i .
(i) fowa fE9T =1 sy
(i) fow ¥ woR favwemn w1 Tww
(i) FFa we wEw ® fRe S
(iv) faFa @ma fagemw & ow
(v) T wfm woa o Hiffal

(2-13/13)1.-26083 P.T.0.



“What is Sales forecasting ? Explain quantitative methods
i sales forecasting with their merits and demerits. 15
igpa o R fRE wee ¥ 7 fomw o W Wb
fafeal =1 379 70 s I wfew avi #ifae

3. Define Salesforce management. Explain its objectives and
importance. 15
foa 9@ a1 9 w0 P R 2 R SR @ wew
1 0 ®fEg |

4. What do you understand by sales budget 2 What is the
need and importance of sales budget ? 15
fosh! aoe @ = i # 2 ol wor F TevaE@ w@
Hewd H 0w |
*What do you understand by Sales-territory ? What are the
iactors alfecting allocation of size of sales territories ? 15
a3 1w afa ] 2 fa @ B arer frfon =
gufed F 9 T BAE E 2

6. What is Sales Quota ? Explain the principles of
determining sales quota. 15
fat ®ra fFa wed € 2 fast sl ko & fagldt =
ol wHifag |

L-26083 2

7.

What do you mean by sales cost analysis ? Explain its
various methods. 15
faka o fawemw @ smew w®m oo ¥ 7 s
fafimm faftml =1 = wifag |

Discuss ethical issues involved in management of sales-
force. 15
fomg a0 vam § Afdw weff w0 ovfr wifsw |

Write notes on the following : T/Ax2=18
(a) Types of Sales Quota

(b) Process of Sales Territory determination.
frefafes W fewfirt fafey .

() fawt w1 & fafi= 7R

(%) faswt &3 fuRor =1 wfear

(2-13/14) L-26083 3 100
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CBCQ/M-22 26084
SALES PROMOTION AND PUBLIC

RELATIONS-1]

BC-(Voc)-606

Time : Three Hours| [Maximum Marks : 80

Note :  Attempt Five questions in all. Q. No. 1 is compulsory.
In addition to Q. No. 1 attempt four more questions.
All questions carry equal marks.
FA U FOA # I AN | v Tem |
B WA W 1w sffm @ oww oW F oww
e | wdt Wl ® W g ¢
Compulsory Question ( 3fHamd w9+ )

l. {a) Define Public relation.
TTEE w ufafye w1
(b} Give five sale promotion programme.
W A s AR
(¢) What is difference between public and publicity.
SR YR $ dw s e w0
(d) Explain sale promotion activitjes.

(¢)  Explain discount and rebate.

.

2 ¥ f@e =1 wumEy

(5-21/8) 1.-26084 P10,
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What is Publicity ? Explain its merit and demerits.
What is Pre-testing ? Explain its advantages and
disadvantages.

TE-Tde 7 THE oy aun el @ av @i

What de vou mean by marketing ? Explain its role and
scope.

0y

famom o1 € ? TEE! qiUs a0 & F1 avH Sy |

Explain the method of public relations.
SR FOTOF F A HIf

Explain ethical aspects of sale promotions.

faga gada =1 Af5E aronst & g sifemw |

Give detal]l of legal aspects of public relation.

SIS w OB amoned w famw wv § Afsw
What 1s sale promotion ? Explain its features and
functions.

fawa gosim 99 € 7 fawa guds =) fagioeret qon ol
F Hw FIFT |

Define Pubhcity, Explain its scope and limitations.
T w1 g FIfe | sHE & dw dmed & T
FIT |

1.-26084 2 100



